Question Booklet No.

Question Booklet Code SLRC_ 2 02 2

C Paper : I

Roll No.

Time Allowed : 10:00 a.m. to 12:00 noon (2 Hours) Maximum Marks : 135

Before filling the OMR Answer-Sheet, the candidate must ensure that all the pages from 1-96 are printed
correctly in the Question Booklet. In case of any discrepancy, immediately replace your Question Booklet.

INSTRUCTIONS

Do not open the Question Booklet before 09:55 a.m. in the Examination Hall.

Read the question carefully before marking the right answer in the appropriate circle of
the OMR Answer-Sheet.

No candidate will be allowed to enter or leave the Examination Hall during the examination hours.

Any candidate found using unfair means in the examination halls/rooms shall be
disqualified.

Candidate should clearly write his/her Roll No. in the space provided in the Question
Booklet in case of using Non-Standard OMR Answer-Sheet.

Candidates will have to sign twice. Once in the Attendance/Roll Sheet presented by the
Invigilator on duty after taking their seats in the Examination Hall, and the other, at the
time of handing over their Question Booklet and OMR Answer-Sheet to the Invigilator after
the completion of the Examination. Cases where a candidate has not signed while submitting
the OMR Answer sheet and the Question Booklet, he/she shall be treated as absent.

Candidate should do all the necessary Rough Work on the Question Booklet in the space
provided. Rough Work should not be done on the OMR Answer-Sheet or on any other paper.
If any Rough Work is done on the OMR Answer-Sheet, the OMR Answer-Sheet will not be
assessed.

There will be one single OMR Answer-Sheet for all the questions. No extra OMR
Answer-Sheet will be provided for any mistake or correction.

The OMR Answer-Sheet will be provided along with the Question Booklet. Candidate should
fill up the particulars in the OMR Answer-Sheet, i.e., Question Booklet No., Question
Booklet Code, etc., carefully with blue/black ball-point pen only.

The Examination is of 2 hours duration and will consist of 135 questions of 1 mark against each
question.

There is no negative marking for any wrong answer.

Candidate should note that each question is given in multilingual form, viz., in Assamese/
Bengali/Bodo/Hindi/English medium/version for his/her convenience and ready reference.
In case of any discrepancy or confusion in the medium /version, the English version will be
treated as the authentic version.

Very Important :

The candidate should make sure that the corresponding Question Booklet Code is
properly written/shaded in the OMR Answer-Sheet by him/her. For example, if the
candidate gets Question Booklet Code ‘C’, then he/she should fill up ‘C’ in the box
provided in the OMR Answer-Sheet and also shade the circle ‘C’ in the OMR Answer-
Sheet. In case of any discrepancy in the Question Booklet, the candidate should
immediately report the matter to the Invigilator for replacement.

The candidate has to return the Question Booklet along with the OMR Answer-Sheet to
the Invigilator before leaving the Examination Hall failing which he/she will be
considered absent.
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BERIRE

51 09:55 JHIT HITS LHPITOI e |

OMR €3 “Iq9 IYR JEWU® Wa Te05! e 917 S9TS &miht AR I 76T |

o S5 BfeT 4| TS (@I AT 29 T fToqo 2@ T{! /] T @Y IR
oS i 7R |

o It T SRR SPIR SoR ST I @#1TS Ty T4 A9 fREpTR Teewt 707,
(S8 (SEF TS Jfol [REI0A1 F1 27 |

® Non-Standard OMR I@T® 2(F “_FFIAE Fo@ @ 791 euFiFed Mg sz =B
Tt =far |

o HITRCE WA Ml SHFES /@ET *a© YAR FHa P AR, 2I_IT (DS 217w
FHS P A2 FAIF TS IF TSI OMR TG IF eI Fwes ol
RIS SIS | GRICT! 2[RI oS /e “Iqe fasia 3 JAFe 1903, (SR & (SSTEF
s 31 4f9 @RI Ea |

o A FNT AFEN (9 LAWEAT B4l (rough) FW eXFIFoS i@l sizeE F 1 |
AN 461 (rough) FI TG A1 Al B (FIC! 476 FloIErs I R | T 7o I
@2 Y541 (rough) PN *HIFE T, (SRS T (S0 T&H #[@q Jeie 341 7929 |

o T 2T AT AHIF @ Vg OMR T&T a2 ¥l 27 | G 20 I WF IRIA
SreRE @I $eq oiq il 72’7 |

® ENIFOT TS ¥ OMR Teq ~Ig il 27 | *[=Ifw ¢z 8 OMR Ted 7o
ERJFCT T, LFTOT T, 2G| ARG @ ATl /F 2N -5 I 7 PR
R |

o [SFPIT TR 2 T AT eHFFoe 135 T o T HF ATTRG! TF AW 1 TS
2 |

o & TG AT (PITA! WM 77 AT |

® IFAIRIR © TR I A FINET OMR TG 2[q® &l /F 3l &1-936 (02 T2
A AN |

o “RrFIFI (OSTEIR ARA To M @ erTire erpRR RO 279, @ PN,
ST, 0T, oM ST RAE! | @2 CFgS ARG A TRFIS @I 4701 s 1 3K
(oIS SRR 2o 3R TRFREDBIR2. 2T Wi Jfe1 9o A |

Important Instruction :

o T faPoe 2l Ttw TTe eFITS $'T TGB! OMR Tes g S 5iz® forat 27 |
TRRFeERC, AR &> T 2RFIFSI T “C’ 2fFE OMR T “iaq (e digs «c’
forika anfor =ie e 3@ < 6t a1 37 7R | eises et fesfe oifdicet <[
TR TGP G IF ARHToL Feie A 37 |

o I T GJil FIT WICS 2N FHFT oS OMR TEGF [ FNCS LRFIFOIE
ol v AR | SepRt sfRiEem SpritEs 3 Rt 27 |
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et

Pl 09:55 B TS a’ &= 1l |

OMR &3 “taq 3L Jebre W Texlh e TR +[tf erifh R 1o 7o |

o P HoTCe APl SR @I AT <A oA Food @ [l K T (=S ARE
ST SRS (TS =T A |

o i (FI I SPIR TAR SqETT I A TAE SEmd T AW FRPTR oo I,
@ I S0 A0 Ko 91 23 |

® T ST OMR @7 “[(ad &) IS e (@ w91 els#itad Wiie 2 =8 3
for® 207 |

o FrFiaE IR e ToIRERs /@I #Ita YAIF FHFA 0o 2, AR Od 2100
FCF P 2429 FAF T R ORI OMR T@d7[@ @3k 2#afb s ol (e
TR | I IR Toifels /@iel #ita A SRR F 1l I, IR0 OIS SlES qE
/e[y T 204 |

o SIS AT G ARG T (rough) TS %08 (ST BT FACS ARE | 2wl
TG (rough) IS TG 1 T (FIF R FI9E FICS AR 1 | AW 27wt @3 270!
(rough) FT& TEIICq FCA, OCF G2 TELIGH TeNR Pl 204 1 |

® 7T TR & AT ¢Fh g OMR Tea7@ e X | G T A WF TR &
SRR (e Teaig (e I A |

® &vItad M b OMR Tea7iq (eq B | *[IIFIE (12 U8 OMR TeReIta ei%tas
T, ePEITR (T TSI AR WY 131 /I IT-A@S o =T 5] FH00 2 |

® [P TR 2 TGB! ¥R &g 135 5 & AFE «R 2TSF T Ty 1 799 07 i
R |

® o TG T (I YO 7 AP A |

® 5% O (FTF G A OMR TGIGT 1161 /FICE I - @B (7] 2T FACS 2(A |

o AN ST R T TS 2@ @ 2R e GEN ITSIRE 2[ | @- SPIaRl,
e, AT, TR @R TG | @3 CRG TGN ORI (I LIPS T (@0
P B0 BRG] SHANDE LIPS W 03 91T FHCH |

Important Instruction :

o *ArHTy Rce 2ex BT ATS eRetad IS THAG OMR Sed7itad e 2w @4t = |
T, AT AN PTER (@IS “C? 2l OMR $e3ite (e =it < ot =@
GR TR 38 ‘¢’ b FIET TS 2@ | eGP TP (e AR e [
TR0 R GR 2E#IAD I FACS T |

o ! T Is TR “tf A (NAFCPT TS OMR T@geitas Aozt @ryeiafG e fires
T | & = e SR S I Rt 2@ |
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ferer=

%1 09:55 famfx Rt sresef Wi frersEt s@aTe |

T ANTYHATE TS Tt gt T Trete St @ EE A |

® 3IFITE T UHR U Taal [SHRERE 3G ST G T TET SIS @ TR
BT ST ST |

o Ife Aian fommremmn mia war @R wan MmN T e AuerEt fawrEn, fegmet 3R gee
TR ST |

e Jfc Non-Standard OMR Sheet STEEAT ST, fSA@@ET@T MEaT-Maf HIR TR (Roll
No.) S ferems &1 Srrmme T fort 9 |

o formEETERT ARfCHTET BH™ TATAT™ /IR faarsame e gars e 9, fifaame See
T 3riTe @umRTe Wil dEE JEE A AR @ae g e 3T OMR e faersat
TREATET ST S TuTa | SReT AR JenferT /B feersare A wsh amaw 3 gaTs
WA 3T&AT TSI ST BT AT €T €51 SH1E ST |

o fsrrEmn Maft MaE Y@M THT ST rough FERE GiFME faagaad @l g |
feA=@™T rough TEE! TR foeTsaE T oA TEWH @RS SEREl gFE T8 |
foemgama IfE & rough FTETE! WIEH! 376eT T foaTsE! Y™ Q™ STH™ FT |

o TTHE FHEMA U™ e THe” OMR A= faems A wrme | mRf Seen 19
o st st T fererte @ s = |

o T faags @rmE TH OMR ™ faars gm@ sme | femmamn & &1 OMR
ATATE AT - : TR foers =m0 d@m foemst &', et w's smfe safest
e el TS T S-St ot e |

® IHIEH THT 2 U= IR AHM fSetgard W9 135 HifY YA 3T WFhHE! JiAEE-l e
ot emEm 1 T Ui |

o I fFrafy ara™ Sel g’ R 19 |

o foAERT OMR T foretrsama @fet fier TRl W Seu-siEl et Qi@ 317 Qe
AT |

o 31rare B fift gleenty e marme arfgamn @it @ faemst ey gimer me
Taie SIrTH, SR 3rEHiE, s7ar, U, &< AR 3Ui | o ST Jres sl T BiEeEE s -
51 TET GRS TSI ST SUSTE BIATeHRG@ T H1s BT S5 1 A0 |

Important Instruction :

o foAmrramrn e wHrEn wiwife g e % 'sEt OMR e faemsf for sermeme o
" gt A | el afed femrmmn wam wam faemef %' <o @t T faeme fo
ST @A et w'e < forA A ot for semwt e WrerwE e |

® 3THSE WATE! ARTAE farm fsAreamn Amfemfy smamma OMR A faemgst ema
i feeTgEian ST gl ARTH | TSTee1 STHWIE gt Tamned fFems THemmE S |

"

OFAD|
SHrilE
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frdw

uTd: 09:55 &t | Yd Y9 Y 7 @i |

OMR STR-U= & 3IUFe I | Jg I fga o € gg a4t T3 AaHiges U |

o vilieT Tord T foeft wiemeff i wdian wam o wiat yET 1o wier e Bidt S i 1A
Tl < St |

o fe I ghiemeff Torq qlent 3TUTT B A1 W IfectRad FEHt 1 oot T 7, 91 39 3™
U T SR |

® Non-Standard OMR 3W-93 % 391 7q eqefl 379a1 Tet =, I gfedent # fou M0 v w
wog 9 4 ford |

o uhianefi @i frfteres g feu o 3ufefa /Ae 3fic W & IR SR T TR, TEeh 9 e o &
¢ 3R g IR WA gf&qeht 3T OMR IT-94 f{iee i Hiad o &G | 3R foreft aliemelf 4
Iufefa /Ue sffe W e gedter T foharm, @t 3| wdienefi s srufeer awen s |

o wiiemeff Tt TE *1 FTEH W (rough) HH T fEaehT § feU MU T 9T weh | wdieeff W
(rough) T IT-9 A7 31 Forell T8 & HITe W & HLFh | I qhienel ST-u9 WHE W
(rough) T AT 2, A T IT-T T JoATeh a1 a1 T |

o Tt Uyt o foru udiemedi ot shae Uk OMR STR-UH €t oo S | Tetdt §H R 91 Ig & &
for whtg riiter ser—v=t & fean wmem |

® ¥ If&ieht < T1Y T OMR IW-v3 fean smom | wieneff 39 fifdse OMR IW-93 # ¥
GfEent ., T GFETehT T I 3T HTHT 1 IS ST Torewor FraeTi & shadt el 31 el sicl-
Ui5e U | W |

® Ui ST FHA 2 FUS BTN 3T ¥ GfTehl § 135 T &1 3TR Tedish I o foTw 1 376 i |

® TTeTd 3R o foT0 g TohRTeHR 37eha &1 2 |

o TR 1 38 T8 T 3R OMR IT-T9 W hael el AT HIAT Sid-Tige 94 § |t FIAC
AT B

o wiieneff 79t glaen o foe e T T T gfcaent w1 Tl Sve Sg-wTfves 8T, S — ST,
e, srel, fawdt 37t 3Tt | 30 ey o wren o weehtor 8 foneft wehr 61 7fe o wmem § srgfaen
B W 37ST IS i & HE W S |

Important Instruction :

o uiignedi 7z gHivaa o & foh 39k g1 W9 YRert &1 g OMR SW-UF § && &1 ¥
T /T Toha T B | SCTEUREEU, A udienelt it wuA giere @ ®ig ‘C’ @, @ OMR
IW-U H e “C’ foramn gnm 3R 9= “C? Y shien &1 BRm | af uvA gl § g 9t o
30 e 9 HE femfa fore, A gema wdten Trfierss @ o wva gt agem % |

o Tlten WA BieH ¥ Uget udiendt i Fiersh o 4 OMR STR-US & WY U9 Yieaent ot s
ST BN | ST 3¢ STJUREd o w9 | THel S |
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1. SPTIE 20! SR Ioree I G i 512 SafEs ?

A) @R (B) W=D
©) To= (D) wofle
1. PG &N S qormee il [REDR SR[Es =i :
@) @ (B) W=D
(C) ToEd (D) it
1. mamf fifafm mem g Tt s, T foRer’ sneEg ¢
(A) TETET (B) wrEr
(C) o (D) =i
1. 375 &1 Ugal gfes fruet e fuer fem 2
(A) TETEE (B) e H
(C) dwgrH (D) e &
1. The first modern theatre hall of Assam, the ‘Baan Theatre’ is located in
(A) Guwahati (B) dJorhat
(C) Tezpur (D) Nagaon

2. fferfde @me o e SRR SS9 ?

(A) T (B) 3ferfexi

(C) Dleefer (D) FFEA
2. 10 SEie @i ol wiEEd SRS S ?

(A) IR (B) 3ferfea

(C) P (D) TR
2. TR 9 T Wil MRHEE § 7

(A) T (B) sifeAferm

(C) aEt=n (D) Hartea
2. f=ferfga o & =5 a1 o gfaor smfem A R 2

(A) e (B) sefemn

(C) aETtR= (D) =S
SLRC-2022/P-1/C 6 Em@_



Which of the following countries is in South America ?
(A) Somalia (B) Bolivia
(C) Tasmania (D) Cambodia

T[S FIFTS! MREANTI (@FITH! SNCHIETS FIeTo! 424! H2 (2%eT ?

(A)  SPIREMN! SCwlere (B) SRS St ACHIeTe
(C) o2 fearz (D) SIS SR
TIRCSF FIRTS! MR (I SNTHIECT FIFeTS! IR X2 ZRZCE 2
(A) =PI (B) ©© Ryl

(©) PR fcarz (D) 2 S

IRAf I ATET AT o AHTIERATITS Shshetd] SE3TT FT SR 2
(A) TSR (B) WNd AT

(C) Tours femmm (D) 3TRH =TTy

YT o LA STee | fohd STIEe | shishetal saTl IT&le 88 ot 7

(A)  FEEAM (B) A BiEl

(C) T fergie (D) @fer Jre

In which movement during India’s struggle for independence was Kanaklata
Barua martyred ?

(A) Non-Cooperation (B) Quit India

(C) Sepoy Mutiny (D) Civil Disobedience

FTRfeTe (e b2 AlTR-SS SaEs T2y ?

(A)  TRAMCE (B) waR

(C) TR (D) D

oI Srairewrs T (A SRres TweIRTS! 2 7T ?

(A) (et (B) waR

(C) TR (D) TIfD

TETTE EHTA HRA el HaL3Tl ol 8§ T ?

(A) SiTeTE (B) ==

©) T (D) HH
SLRC-2022/P-I/C 7 Em@_ P.T.O.



4. Tr=fofiga 3§ & &9 wra %1 ayg fem 1 et T 2 2

(A) e (B) ==
©) T (D) Hif

4.  Which of the following is not a sea-side city of India ?
(A) Bengaluru (B) Chennai
(C) Mumbai (D) Cochin

5. fomferfis @iy Iz I8 Q2o efRmiat (NHAL) T 128! 5o  7[1 (@212 ol 23 2
(A) GFETE
B) TG TN GIS
(C) IS T9IRFT FTea 2
(D) efeT FIT JheS 2w
5. T Swie @R AeEEan 9gh es afifesd (NHAL 99 TP wF (A0S
SRfead ?
(A) ST
(B) TGRS BRI
(C) &3l AT I A2
(D) efewl FIHTR S A=A
5. TIEMETE B 99 HeTEHl NHAI BReaT et 5T W g Siel 7
(A) T
(B) ugifera bt
(C) W8 AR (Senior Citizens) T mafy memmet
(D) T@TT eI T AU
5. Traferfga § @ fora amea o NHAT 1w e 8 52 ITH & 2
(A) T
(B) ugiferam eht
(C) aftg TmTieent & fstt e
(D) &I T o fstt araa

[=1[ml
EA
dirilE

SLRC-2022/P-1/C 8



Which of the following vehicles is exempted from NHAI Fastag Tolls ?
(A) Ambulance

(B) Petroleum Tanker

(C) Private vehicles of Senior citizens

(D) Personal vehicle of Defence personnel

fafeTfis 1] (FIR SRR SPTHR TFREE Ta! ZHIE oS & #1re Fface ?

A) PrE et (B) % Wg Tl

(C) T vl (D) &S (TS

TG ST T (F SPIGE W@l 2R e S8ee 202 ?

(&) RE TR (B) &¥S g Il

(C) IS (o1 (D) &SI (Tes!

RIS BT R e S afmveaft mem s g ¢

(A) FS BTSITER (B) ST Aol 9837

(C) I (D) 3= TG

freferfiga o 19 318w & TafRph hiede @ 8 2

(A) IS ETTRERT (B) <RI Hool S&dl

(C) oIt U7y (D)  3TIdT AT

Who amongst the following is a newly inducted Cabinet Minister of Assam ?
(A) Pizush Hazarika (B) Jayanta Malla Baruah
(C) Ranoj Pegu (D) Ajanta Neog

TS TS Tt Sleee 8 Gt s sRE Fifee 2

(A) 1991 (B) 1985
(C) 1980 (D) 1982
SIS (@M I v Jfee Glefens sRiaw we Fafee ?
(A) 1991 (B) 1985
(C) 1980 (D) 1982
EHE
SLRC-2022/P-1/C 9 Z8F  P.T.O.



7. S HTSYTASTE UG 3T TR SATTrsT S’ Bl HRASTE BIEESHGAN ?

(A) 1991 (B) 1985
(C) 1980 (D) 1982
7. QR A ¥R H Tl Sefifors shrisha fhd oy # 3% fora 2
(A) 1991 (B) 1985
(C) 1980 (D) 1982
7. In which year did Doordarshan start colour television programme in India ?
(A) 1991 (B) 1985
(C) 1980 (D) 1982

8. TAIRR @ i Seofime AN 5 2

A) etz (B) ETIES RIS (=11 *P
(C) TETel (D) &Y
8. TAIRR &fOBItTy e e i ?
&) (B) @rSeIes= APy
©) Tl (D) &Y
8. ®I137 (Boeing) W@ﬁﬁﬁgﬂ%ﬂ a1 e
(A) 3T (B) I 31ER
(©) I D) e
8. SIS Ul 1 MTTHeh IcdTG 1 3 ?
(A) & e (B) TR % I
(C) S (D) <=
8. What is the primary product of Boeing company ?
(A) Aircrafts (B) Breakfast cereals
(C) Shoes (D) Medicines

9. S SISO TP I e 2

(A) T Bl (B) R&Fw RIS
(C) A (D) < aMerfe
LI [0]
SLRC-2022/P-I/C 10 s



9. TP SISO & TRIFICH IR ?
(A) T Bree (B) R@9iEreR
(C) Al =l (D) TSR siafife
9.  STEMUSA GrEaT i WRaTi g gamar ?
(A) T TTEAl (B) fershm wmrums
(C) e gt (D) Ff i
9.  3ARE T WA 98 WRA i & 2
(A) eI ST (B) fershm wrms
(C) Trhr v (D) = e
9. Who was the first Indian to go to space ?
(A) Kalpana Chawla (B) Vikram Sarabhai
(C) Rakesh Sharma (D) Yuri Gagarin
10. =PI I AL TS TLS ?
(A) e (B) a2l
(C) s (D) =l
10.  SIPIICH S SRR (P TALS ?
(A) el (B) @l
(C) =i (D) F=3
10. 3TTETH BTEERTH 1T Wﬁ\?{ (Assam State Museum) AT E&IE ?
(A) W (B) TETE
(C) e (D) HER
10. 3THH U9 HUETOT gl (oI 2 2
(A) e (B) TETET
(C) i (D) &
10. Where is the Assam State Museum located ?
(A) Majuli (B) Guwabhati
(C) Nagaon (D) Kohora
SLRC-2022/P-1/C 11 Em@_ P.T.O.



11. 2fSq=0E @ W29 8 I Wafelie (T W= sfiefe a1 23 2
(A) IR = (B) 471 il et
(C) s T (D) WOFR 9% [{OEEHD Urpl
11. ey Sealrems se (@i elfs 7997/ 8 T Svie 1 23 ?
@A) A fret (B) S Rt foet
(C) = oy (D) WY 4R @O (FETE M
11. TER JoE! SHCHHE ST B gH 8 3Te@iel BIfcH ™ ST/ ?
(A) FTEETHET (B) g BT |
(C) =™ g (D) T ™ AW & fshda o=
11. Fr=faRea o @ %= o1 feag s e 8 78 I TR ST 8 ?
(A)  wrfer fes@ (B) e froe feerm
(C) i feam (D) Sohig 3 TS foreie feam
11. Which of the following is celebrated on May 8 every year ?
(A) Environment Day (B) No Tobacco Day
(C) Labour Day (D) Red Cross and Red Crescent Day
12. 1994 TS 5IFIN ETRI ¥ - FAICHR 51T FlF 2 41 (2f%e ?
(A) S[R™ @G B) T.99. rF
(C) T. fFae @@t D) oS 3. @2
12. 1994 A ST Gl RrSital (& AT oICT0T SR JTFS 2R 2
(A) TRV SRS B) B.99. GP=
(C) . 57 @MW (D) oS . @2
12. 3. 1994 UISYM 376 €K G TETH TR ATGISTE 107 T80T TG S SIGHEH 2
(&) 3Tfer shaard (B) .. s
(C) =i. frrmr st (D) T €. vmgE
12. Torg TTepRl @ <6t 2ot § 1994 H 1 Hved YTEhR & FHATH foha TRIT 7 2
(A) 3fae Sherara (B) AT, AH
(C) <. formad (D) feiam €. @
12. Who was awarded the Ramon Magsaysay Award in 1994 in the category of

Government Service ?
(A) Arvind Kejriwal (B) T.N. Seshan
(C) Dr. Kiran Bedi (D) Chintaman D. Deshmukh

[
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13. fTferiRre sz (I ©les 22N Fiaw Tolarg ?
A) ©=FF (B) cif=at
(C) wIfeg (D) =6 —IA
13. 90 Sraiis @i SiTes 2% Fiay Toiaz ?
A) = B) @iz
(C) wIfeg (D) 36— IA
13. TEREH seT YAt et gmm a=ar 2
(A) HrERt (B) Ufeeft
(C) Fmiwg (D) 39 - 3T, (INSAT — IA)
13. freferiaa § & iF TG 1 Ugel HiEH 39wE A1 2
(A) wrERt (B) feeft
(C) 3miwg (D) 33— 3ME.T. (INSAT —IA)
13. Which of the following was the first artificial satellite of India ?
(A) Bhaskara (B) Rohini
(C) Aryabhatta (D) INSAT -IA
14. fTforRre =g (I et w23 2
) for (B) ™
(C) =R'Tew (D) TP
14. 10y Seais @ (et smig w7 2
) for (B) ™
(C) =@ D) “FoF
14. TIEHETE SHE SeT G 98T ?
A T (B) @
(C) 3Tt (D) &1 (Quartz)
14. feffeada s T aa & 8 ?
A) feo (B) 9W
(C) EEH (D) =g
14. Which of the following is NOT an element ?
(A) Tin (B) Mercury
(C) Iodine (D) Quartz
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15. femferiie FOPRRT (FRGMS o1 e =7 ?
A) T (B) o711
(C) I Bz (D) TWCfFB
15. 90 Srafie FrorstER T @R 39 I7ms = 1 ?
A) T (B) T Bfept
(C) TRet GFm (D) WIORD
15. TERH g6 Mgt s (ball) STERAT SR ?
(A) Tiew (B) & af@
(C) deet dfre (D) SsfiH
15. fr=fefaa o @ & a1 @et i 1 9T T8 Har @ ?
(A) Tew (B) @ fE
(C) 2= (D) Sefie
15. Which one of the following sports does not use a ball ?
(A) Golf (B) Lawn Tennis
(C) Table Tennis (D) Badminton
16. G599, 2021 TS “IPIY T3 I6! (I P e emie F41 02w ?
(A) GiTomTI GRS (B) ¥+ GBIl
(C) o [N (D) SrEers
16. TO0TR 2021 @ “SPTH [T “FRIA (& SRS Z@MRCE ?
(A) Taromar @St (B) o Bib!
(C) T T2 (D) SrEers P
16. 3. 2021 AU felmsR AT ‘STEM e STUTE! TS g1 ar ?
(A) T = et (B) W@
(C) T form (D) AT T
16. fommr 2021 # “318m dva” | fopdt Tomla foharm e o 2
(A) g T M (B) T <RI
(C) T forem (D) FHAIT G
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16. Who was awarded the “Assam Baibhav” award in December, 2021 ?
(A) Jitendra Nath Goswami (B) Ratan Tata
(C) Ratan Thiam (D) Amalprava Das

17. % @R G @i oi3e 9Es ?

&) I (B) Tl

(C) Tz (D) SI=CMEM
17. @ @A GG @R S[ES 2

(A) ™l (B) “HG

(C) =TI (D) SEmRm
17. g Rfesm snagie ?

A) wElar (B) &

(C) wewom (D)  3TEHCETG
17. Fgudefem  #fem)

A) s (B) Hd

(C) weEm (D) 3HEHEHETG
17. Narendra Modi Stadium is situated in

(A) Baroda (B) Surat

(C) Mehsana (D) Ahmedabad

18. MPLAD Sil5fe LAD 9 3= +(h! (2r= :
(A) Local Asset Development (B) Local Area Development
(C) Leading Asset Development (D) Local Area Distribution
18. MPLAD “f{s3it® LAD 5108 1 (@i 2

(A) Local Asset Development (B) Local Area Development
(C) Leading Asset Development (D) Local Area Distribution

=
il

P.T.O.

[OFA0|
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18. MPLAD #e=eifig 319 LAD 31 9rEt GIERT ?

(A) Local Asset Development
(C) Leading Asset Development
18. MPLAD 151§ LAD o1 11 319 2 ?

(A) Local Asset Development
(C) Leading Asset Development

(B)
D)

(B)
D)

Local Area Development

Local Area Distribution

Local Area Development

Local Area Distribution

18. What does LAD stand for in MPLAD Scheme ?

(A) Local Asset Development (B) Local Area Development
(C) Leading Asset Development (D) Local Area Distribution
19. e aN REs @ oize SRS ?
A) Ffrrel (B) g Tt
(C©) TR D) I
19. @@ EEIRER o=<Es S
(A) TETRrS! B) T
(©) TH (D) TSle
19. foerifen amfEesn S| g ?
(A) IeTehTl (B) e fewedt
©) 7= (D) et
19. fywfenamifee  dfRaR |
(A) i B) s feeet
(C) =i (D) siTe
19. The Victoria memorial is situated in
(A) Kolkata (B) New Delhi
(C) Mumbai (D) Bhopal
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20. 2 W01 @R (4TS SIR# &2 T ?
A TG s (B) =R @
(©) Pz, o6 oz D) AETR
20. TTC Sl @i *1TS & w7 Si*je2e FERRCE ?
A TGoie &
(B) ¥ 7aces (e
(C) = 7H0ed (Y
(D) - o
20. T&m1 g 99 3 IR Fieg Ty TG STEW AT ?
A) fouea s (B) < femdm
(C) T8, e fesdm (D) T
20. T o g oo 3TN Fies wied & w8 2
&) feuer s (B) wisft glt i gre
(C) wg-dre, HAGH (D) wEew
20. In which track and field sports does Hima Das participate ?
(A) Triple Jump (B) Long distance run
(C) Sprints, Short distance (D) Hurdles
21. 3fome Bies vify (ICS) »[ree @I (@ eP™E 9% S_IF! e @Fie wifes 2
(A) @B AR (B) SN <l
(C) T=pH =4l (D) ISt epiw Jel
21. SPTY (TP (Il AT 22 243 Pifeet 7S (112, 51.9o1.) “19r Teif 2wiecer ?
(A) SIS o AR (B) Sl Q0 I
(C) T=vm IFl (D) ISt &pim F==3l
21. ‘sfeem fafaa @nfda’ (ICS) seew 3ty gmm smamt= fifsfim gt geman ¢
(A) SITE=ERT AHYE (B) A=< TH §%31T
(C) oW = sl (D) RS TG F&37
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21. W fafaet dar (ICS) T8e U i dTet 319 o Yaet Sk i 9 2
(A) ST Y (B) 3T T s&ell
(C) &meg seall (D) S TG S
21. Who was the first person from Assam to clear the Indian Civil Service (ICS)
Examination ?
(A) dJamchonga Nampui (B) Anundoram Barooah
(C) Hem Chandra Baruah (D) Parvati Prasad Boruah
22, “e(orS (@RI 9T MW ST [ereq3l efsfam A M smifeiag Jas @
SRR 2
(A) RGN G (B) IR @Iy
(C) I =G 7T D) =Tl SNRABZ
22, “efel far @i T« [Keidre efsfa o — *midkmim @2 @it @& SrEee
AR 2
(A) RGN Tl (B) IR T
(C) T A& fTeHe (D) SIeTIG S2eDI2e
22, “UMFWBHE! TR T0H AR IeuT e g7 — AW s@re ot faerfre ar
fegai 2
(A) S hehfer (B) HTShet B
(©) W e e (D) 3w AT
22. Topar wiitferehl < ferm <l | Tt fop g2 fomam <t v SR fomdia wfefsran g 87 2
(A) ST Shepfor (B) TEHd FTS
(C) &3 A (D) 3w FTERTE
22. Who put forward the law of physics that “Every action has an equal and
opposite reaction” ?
(A) Benjamin Franklin (B) Michael Faraday
(C) Sir Isaac Newton (D) Albert Einstein
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23, &I el 529 4= 71 5 2
A) TR (B) =W
(C) i (D) 2w
23. TemI@ER s *=h3 N i 2
A AR (B) =2W@
(C) Pl (D) <rew
23. TSty vstemats gewen o ¢
CNEEIEE (B) &R
(€) w1 (D) ErH
23. frarsd & T IR TR 2
A) e (B) TW
(C) e (D) @
23. What is the capital city of Zimbabwe ?
(A) Nairobi (B) Harare
(C) Cairo (D) Khartoum
24, (P [AF! TG ST SfeF s ol VT s{iew F41 27 ?
(A)  Coltars T4l (B) el <=4l (GT2e1)
(©) famrwm (D) 3 ot 7=t
24. I TUMC SPIC SGFD o] 7 Tl ol 231 2
(A)  TSlCaRE = (B) I=ifepT 31 (GIezl)
(C) f==wm (D) it callfa I=e!
24, R ggH FHAHEHEETG 3TEEE e ol 1 (Abhiruchi Sports Day) T
ST ?
(A)  WITITeR §&3TT (B) | §%3TT (HEdT)
(C) femem™ (D) T e T&
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24, 315 H rfreR W feaw ferash Safer W aamn Sar 8 2
(A) HFITeR ST (B) TS S%aT (HEd)
(C) fewmem (D) T Tiferg s
24. On whose birthday is Abhiruchi Sports Day celebrated in Assam ?
(A) Bhogeswar Baruah (B) Monalisa Baruah (Mehta)
(C) Hima Das (D) Radha Govinda Baruah
25. WIS (FFUB! 0 ST S SRAIbe] 7272 TR ?
) o= (B) =B
©) fomm (D) @2
25. TG STEfS BRI 0y D SR SReeIbe SITHCeR 6t H<eT2l PR ?
&) frae (B) f¥=ld
©) fomm (D) ==l
25. TTERM S8 SR STHHE! U= TSI SRR 2
A) T (B) wfiEre
(C) femmg (D) SfEre
25. TrAfIREd ® | IF A1 T 379 I STEUEA T¢I & Teal g ?
@A) fes (B) =@t
(C) femr (D) SfREre
25. Which one of the following places connect Assam with Arunachal Pradesh ?
(A) Dirak (B) Baxirhat
(C) Dimapur (D) Jorhat
26. ST FCST RS T (e i 2
(A) TS Pz (B) TIaMS Piez
(C) TP Pz (D) 77 fitz
26. TR AGCH 7 el (F f=eeel 2
(A) TS Pz (B) TItaE Piez
(C) FwceTss Picz (D) 4 PIRE
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26. 3R TTHICR ST TS A ?
A) T g (B) Siiteer fire
(C) wuowe fiig (D) g fig
26. AT HTHTST T (T T i o7 ?
(A) =geia fig (B) <inizer fifg
(C) hHeiveR fiig (D) T fiiz
26. Who was the last king of the Ahom Kingdom ?
(A) Chandrakanta Singha (B) Jogeswar Singha
(C) Kamaleswar Singha (D) Purandar Singha
27. RN FEREARE TR “S TIF HCAE ¢ 2T TS LIRS (@i ?
A) (B) SR
(C) TEffa (D) TER
27. TR @ERERE ATS “I (@7 AR o FRib @12y @ A ehiw eie i
&) TR (B) ST
(C) TEFRE (D) TEFIR
27. AGY IFEEIH “37 TR AR g2 G- Ffeea 581 Rraesm=me ?
A) wmE (B) 3AEAICE
(C) <iHfafe (D) ST
27. ALY ISE%AT h BT “I AR AR <3 T8el! SR Teh1ird 53 o :
(A) «iEH (B) 3G H
(C) <Hfsd o (D) ShHTR
27. Laxminath Bezbaruah’s poem “O’ Mor Apunar Desh” was first published in
(A) Bahi (B) Orunodoi
(C) Jonbiri (D) dJonaki
28. TIEP (L (T STl 52 ?
(A)  mfEpel (il (B) fefersiizs
(C) FgImal (D) 2RI
28, RPS (I (TR TSI #1272
(A) W Il (B) Fefersifzs
(C) Zrwicarml (D) izeTpies
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28. Sehh3TT 9 FIUH TSALATI ?
(A) WAl HITET (B) Trefifu=a
(ORESEIRED (D) TEAvg
28, Sehieh TS TEL S —
(A) gfeqor spife 61 (B) Torefidia =
(C) sESHEmE (D) HTSeis 1
28. Bangkok is the capital city of
(A) South Korea (B) Philippines
(C) Indonesia (D) Thailand
29. MYS WK ANI6 (UAE) T @7 9 15 2
A) == (B) e
(C) foaa (D) THCPeT
29. MY W SRR (UAE) @it S 10T 2
A) FEEA (B) =E
(C) Tom=™ (D) e
29. TS 3RS THRAH T @R A1 ?
VIR K| (B) fe&mw
(C) fednm (D) e
29. TIH 3 IRIG (UAE) H ggram 8 2
(A) Fod B) fem
(C) fegm (D) =fthet
29. What is the currency of United Arab Emirates (UAE) ?
(A) Ruble (B) Dinar
(C) Dirham (D) Shekel
30. T 74 9 TS TR (TS TIES ?
(A) TG i PRI (B) I =T @G
(C) TN S “f%67g (D) TTzT o1 e
30. TP 7[G T T AT OTY SAES ?
(A) TOEF @R FERIRA (B) +eit8 @R @F20
(C) TWANTAA @R “f%6Tg (D) TFIT @R @i
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30. & AR e ToRTd 7K AR A (STeAT) 37 € ?
(A) T AR HicTATER (B) Tia AR &R
(C) SfredT AR J=iled (D) fespre T gmmSit
30. T <1 7RI & st & TR A ferd 2 2
(A) IR 3R iR (B) a3 ARERE
(C) e 3R 9=’ (D) fespre 3 gmrsht
30. Between which two towns is the Naranarayan Setu situated ?
(A) Tezpur and Kaliabor (B) Nagaon and Jorhat
(C) dJogighopa and Pancharatna (D) Dibrugarh and Dhemaji
31. foaferire e oi2 e fraita frsbardt 2
A) BFAN (B) wielly
(C) wPHNM (D) =M
31. G i 2 e gt 11l At ferbos 2
&) gFAN (B) =wiam
(C) TI™AmM (D) «m
31. TR 9 SRATR e feeefit aua ¢ ?
(A) TeIH (B) Af~ezm
(C) Forehetreme (D) &g
31. FrAfeifaa o @ = |1 T 75 fooel o Hehe 2 2
(A) TeI™ (B) ™
(C) fhehetrse (D) &e1g
31. Which of the following places is adjacent to New Delhi ?
(A) Gurugram (B) Nandigram
(C) Secunderabad (D) Dhanbad
32. G (A (PlTe O7R &l eI st ?
A) fefeers (B) e
(C) Zoaiza (D) 2T
SLRC-2022/P-1/C 23 Em@_ P.T.O.



32. I5MCIG 2GR @ (R el eyl f=eer 2
(A) Fiefemmie (B) iI©l
(C) TEIIE D) 2TEhie
32. HIIR SR 31 9« g ST MR BiME ?
&) =ficivs (B) el
(C) 35U (D) FIvg
32. TFTC =R qd wemwEs of :
A) fcte (B) el
(C) 3o (D) 3eifg
32. Margaret Thatcher was a former Prime Minister of
(A) New Zealand (B) Canada
(C) Israel (D) England
33. SIS SIS e SeTolol (22 ;
(A) IR LT (B) AfR et
(C) T 4 (D) = e
33. SIMRIT G2 SRR M0 Sorelal i e 2
(A) IR LT (B) @R &eie
(C) IS <fe (D) I e
33. &9 3T FATSRIH IS U ¢ SEF (Body of water) @ 71 41 i ?
(A) o™ % (Canal) (B) SfGTEI-gITE (Strait)
(C) Hua % (Canal) (D) U §I-Go (Strait)
33. ®H 3 AT o o9 I fpm I 2
(A) T TE (B) ST TerERS
(C) =& &t (D) T TATASA
33. The body of water between Russia and Alaska is
(A) Panama Canal (B) Bering Strait
(C) Suez Canal (D) Palk Strait
34. TNAWIY T D FHRre PR 4! (i CRfe ?
(A) e epim Bl (B) *< bm Picz
(C) g iy (D) Tl 37t
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34. TANFNIY IR0 R “RTS] SPTR T (3 TR 2
Q) fwet @pim vferal (B) *s v PR
(C) Rgeam i (D) TalleTlel I3
34. AT steAf STE TR smammf firfs wfly e 2
(&) femren s =ferer (B) ¥ = feram
(C) o Afy (D) e SRERT
34. TITY TEet < A S1G 3TEH o TEIHAT i o ?
(&) femren sy =ferer (B) =iz fiie
(C)  foroum wf (D) TiretTe s
34. Who was the Chief Minister of Assam immediately after Gopinath Bardoloi ?
(A) Bimala Prasad Chaliha (B) Sarat Chandra Singha
(C) Bishnuram Medhi (D) Golap Borbora
35. OPTIR Fere fbfeeal sRIRmIem= i 512 7o tafest ?
&) w@=b (B) <=Mt
(C) foeme D) =g
35. PTCA @i fofeeat wRfmieT (i eifefos zufes 2
A) @@= (B) w1l
(C) e D) =g
35. 3mamt fifafem areamrmEe sreEferr (Medical College) @t SI&T TRHAHR S ?
(A) SR (B) T
(©) fre=r D) fegme
35. 3T9H o Ugct HfSehel Shiciel ohi TATIHT el g3 ot ?
(&) SiEre (B) Taerdt
(©) foem (D) fesme
35. Where was the first medical college of Assam established ?
(A) Jorhat (B) Guwahati
(C) Silchar (D) Dibrugarh
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36. I AR 9 77 S AN g @Il 5123 (@ @es @1 = :
(A) IR (B) Twol
(C) wifewis (D) R="
36. RIS TR AT 54 3R “IFR6w T A= 1 @ (I BT GO 778 297 2
(A) IR (B) Twol
(C) ifemRe (D) &Sl
36. TEMA Ml (Prime Meridian) M Safa S @ SRS GHT-GHE fanste
AT G GRS |41 g4y 2
(A) FHTEH (B) herrg
(C) IfemTsH (D) Ufrerge
36. sH uftfes & qd ofR ufvem i TR ATt 78 fepeft Torm <t iofir gt 61 e ST @ -
(A) i (B) F=rg
(C) TR (D) ™
36. The angular distance of any place from the Prime Meridian measured
towards East and West is called
(A) Latitude (B) Altitude
(C) Longitude (D) Amplitude
37. (AT JAPTIRe (RG] 30 Waes qfere! (311 712 ?
(A) 2AHPER ;A (B) IR P - A
(C) <o FrE: Ay (D) o1 - 2o
37. T Safema wen @ csreift D9 Aimeeie w2
(A) 22T ;& (B) IR TR AR
(C) «ow' P : Ay (D) feie e g
37. TEMM & T TSR 716 7T ?
(A) TR : ¢ (B) STEIEHI : AT
(C) TeHIfERM : IR (D) forenferm : &
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37. Freforfiad & & 5 o T T GRE T 2 2

(A) BTEICRI : A (B) SRR ; qarfaror
(C) weHIERR : a1y (D) TAenfEmr : yiu
37. Which of the following pairs is NOT correctly matched ?
(A) Hydrosphere : Water (B) Biosphere : Environment
(C) Atmosphere : Air (D) Lithosphere : Land

38. T <G (2T S1%eeT (2t=

(A) T2PIR (B) TFgl

(C) T o~ (D) TS S=e]
38. N2 =X :

A) @ (B) Tl

(C) Tpods (D) eI
38, FAMRI__ 37« gl |

(A) A (B) TR

(C) TIISi grSia (D) It gTE
38. &I g I B :

(A) HEEFR (B) e

(C) 3= vdd (D) =1 ST

38. Tsunamis are caused in the

(A) Oceans (B) Deserts
(C) High mountains (D) Deep forests

39. ORNSHS (T 2P SlTC" Pl F1 27 ?

(A) ey oz (B) F1gsife sTed
(C) TR 9IToH (D) ¥ 91T
EME
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39. SRS ATSEN (I e SePIRel 1 2 2

(A)  efsRirey=Ts sTog (B) &S siTog
(C) T sIreg (D) SHLZEES ST
39. ¥ YYQGUEE! HIAE TR e 7
(&) T R g (B) wwfi st geger
(C) wueR gIgaTs (D) ST TR ggaTs
39. WA H foh8 YehR o EATehaa ohT STTERVT foha ST & 2
(A) wfffees A (B) Trgufe Aot
(C) HHSH™ Aiehaa (D) weHThl SAehaa
39. Which form of Democracy is followed in India ?
(A) Representative Democracy (B) Presidential Democracy
(C) Parliamentary Democracy (D) Participatory Democracy

40. JIRETHS 9141 TICa [Nfere @I Piee @=hef@ T 5 FIIE S AR 2

@A) e B) =@
(C) ~mi D) IR

40. TG T AT SR A0 AFS DS 27 I A &l IR 2
INIR SR (B) =Ife
(C) ~mi (D) PRR

40. S S BT ST 31T T 2ETS TR A S s Rl 7
(A) e (B) gTeft
(C) w=m (D) T

40. FRCTCR 5 T AGH H T o S1E FEYH 61 i R ATH § T 1 B 2
(A) «ifga (B) geft
(C) wm (D) e

40. By which name is the river Brahmaputra known after it joins the river
Ganga in Bangladesh ?

(A) Lohit (B) Hooghly
(C) Padma (D) Siang
EE
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41, “AA-M-FIA T &S (6 AKIFETS (&I ST AR 91 27 2
(A) figia (B) Iz
(C) f=m (D) Tl
41. RS 4wy “Te I TR ARETS (@i A0S 2R 1 27 2
A ~gR (B) rErE
© f=r (D) T
41. ST I 981G “TA S 01 G SOHET 56 Tgll 3716 qiEl ?
A) T (B) TSEAH
(C) femm (D) 3fifsm
41. Vg WM “gre ST T STHAR W fohe T § olEn S & 7
INIREIE] (B) TSI
(C) foEr (D) 3ifesm
41. The famous dish “Dal Baati Churma” is typically served in the state of :
(A) Punjab (B) Rajasthan
(C) Bihar (D) Odisha
42. TICER Send eoq IS 2 2l 6 o1 &l AR’ 2
Q) wIfTeER (B) <ffterarz
(C) R (D) RreER
42, S MEAE] (I GRAGRT 1 11 AR -
(A) SEFCeRR (B) IRz
(C) TP (D) =reER
42. TUER fFHRE ST JAGHRE! 71 g 7
A) snfeErm (B) IfHaE
(C) hfvee (D) fedr™
42. B Nl B @M AT G Bl hEd & -
(A) InfeEE (B) SHiHaE
(C) bfee (D) fefdr™
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42. Animals that feed on green plants are known as
(A) Omnivorous (B) Carnivorous
(C) Cannibals (D) Herbivorous
43. OISR RN (P SEPHIe TEI-77 TAeS AR ¢ TGO e AE FAY
[T < P R ?
@A) T Pl (B) =i Syl
(C) B Sl (D) = P!
43. SO R (Fle TS Tea+[d ©Hred AT ¢ TAGTEN T &y FreH(Ife
eI i eige a1 =fRe ?
(A) TSPl (B) -~ Spiol
(C) N =P (D) T ST
43. WA fefaf ae wifEn @-aFs TRat g1 SR e ST BIE! SRy, gers
foenfeat wmfs g 7
A) @i (B) @i«
(C) =1 g (D) @7
43. 9N o 6t g e § qait 9Rd < Ugrel 3R snfeart &si & for et wemeH
1 YT foham T g 2
&) B3 Irggeh (B) gierell st
(C) sl srga (D) et 1
43. Which schedule of the Indian Constitution has made provisions for
autonomous administration for hills and tribal regions of North East India ?
(A) Sixth Schedule (B) Fifth Schedule
(C) Eighth Schedule (D) Ninth Schedule
44. TSR YT BTG AR PG =% S TR 2
A) TR (B) TOWICEF P
(C) =TIEs (D) =t
[EME
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44. T90 TS (I =G RS RN &I R ?
@A) femeers (B) srreifEe
() g D) HrESiEs
44, TTETIE T TS ST S A e e e 2
(A) TR T (B) g3 gummh
(C) ¥ (D) THSETRRTR
44, TTAREd H | HIF 91 g WRA  FITEH hl a1 H 81 @ 2
(A) o (B) wehditeh
(C) e (D) THTETE
44. Which of the following words does not appear in the preamble of the
Constitution of India ?
(A) Secular (B) Democratic
(C) Federal (D) Socialist
45. TWIRE I ITFT FPIRE 71 SA=T! (=20 :
(A) iz o (B) ffersr et
(C) wife foees (D) TS ey
45, SSHTPICER JUl 2T /Tl TR 29T
A) *IiEF TS B) e “wfs
(C) R *Ials (D) TS TFho
45. TR WA T a1 SHEf BTl Rig 71 81 7
(A) UTES @I (B) TS i Al @I
(C) T@ait@nf (D) Ta @
45. G % AEF-YeH o I Tt (51 o f&HT ST 1 gl Ja1 R
(A) UTSH JUTTeAT (B) fafa yomeft
(C) sifehm yomreft (D) T ot
45. The ancient tradition of exchanging goods for goods (trade without currency)
is :
(A) Paik System (B) Barter System
(C) Banking System (D) Rayat System
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46. SIS (T AT 7RG GorE (202 “ol' U7 o T PG ?
@) o (B) = uiF TS
(C) drerzs (D) 9
46. SRGACHCE SICSA (I A “oIG ST [T B GG TIRIT B 2
(A) 6 (B) oY @R IO
(C) dreE™ (D) e
46. TEffCERTIR arE™ wRaf T€ TFSI ST 31 W CTEd 3H S ?
(A) AT (B) < 3T HIRHR
(C) TIEIH (D) e
46. ‘g 37 Hidl” WA & fohd T o Tie Y AT B 2
(A) HARH (B) < 3R HTHR
(C) TIEIH (D) HA
46. “God’s Own Country” is the tagline for tourism of which state of India ?
(A) Karnataka (B) Jammu and Kashmir
(C) Rajasthan (D) Kerala
47. ¢ 231 ~[feTs GHICTI 4T (FETI IETS ST ?
A) PR (B) leH
(C) S=Fellbe] &It (D) wfeIsjq
47. TEFod Sffor GRICTH (I AICey SES ?
(&) P (B) T
(C) S=FIDeT &It (D) o=
47. -G Yo Tehrefirn s« Tl 3ma g 7
(A) IAEM (B) weTe™
(C) TvT=d T (D) =T
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47. Iyt gfera arepreHt fpm T A fRua R 2
(A) IEH (B) HawH™
OREIEERE (D) wfTR

47. Which state is the North Eastern Police Academy located in ?
(A) Assam (B) Meghalaya
(C) Arunachal Pradesh (D) Manipur

48. ST SABGICE R G TR ST Fel 4 FISHINT F© SAFES |
(A) SRS B) =T
(C) bRfes (D) SIRERE

48. ITHR PTG G ToreT SHRTTHIS [<rieTs RTei<ieTs (Pl ofes ?
@A) wiEEE (B) =R
(C) A ()RS EEHI

48. THa-fsum@em™@ (Counter-Insurgency) 3R UMD el gl (Jungle Warfare)

wUETfer 311 faeim e w9 SR e 7

(&) e (B) T
(C) ey (D) smd
48. TiSE ¥ Counter-Insurgency and Jungle Warfare School %&l W fR@ g ?
(&) Fmdsie (B) i
(C) wfeq (D) R
48. Counter-Insurgency and Jungle Warfare School is located in Mizoram at
(A) Aizawl (B) Lunglei
(C) Serchhip (D) Vairengte
49. &= S I T T 4 KT 01, (S0 (98 (@I (7S R ?
(A) Tl (B) ez
(©) eI (D) AT
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49. TG AM B ME GETHme IR OR (12 [ (I (03] B2 2
(A) T (B) eI
(©) FeEfe D) AT
49. SIfe 918 FY3M “TrR1” AT o S WIETE], ST o G311 a8 JTE T 2
(A) 9T (B) difehea™
(C) e (D) iwetres
49. Ife HIE ARE TP | e HAT 8, dl ATk fFA TR ?
(A) Tt (B) TR
(C) e (D) SFeTe
49. If a person is transacting in “Taka”, which country the person is in ?
(A) Nepal (B) Pakistan
(C) Cambodia (D) Bangladesh
50. TP (04 Secel 22 9 91 @i wa?
(A) T=A (B) IR
(C) wrpaliferz D) Fife
50. TIF (7 SIRTS SRCACE @A 2R Ay ¢ 2
(A) TP (B)
(C) SIRFallfeTIe (D) =
50. YRAA! SgfRge i f&m eumrrsan gret gaman ¢
(A) = (B) wfeash!
(C) FAHTEAH (D) &9
50. YA o ToTu g7 1 Ted ST fids U S A1 ?
A) TF (B) wfereent
(C) SRR (D) &=
50. Which country is the biggest exporter of asafoetida (hing) to India ?
(A) Spain (B) Mexico
(C) Afghanistan (D) Russia
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51. P SR Sz (s Sfaiq 2o 3 TGS Qo T4 (2R |

(A) TR 21 (a) (B) SR 25
(C) w=A 18 D) S 23
51. TR SRR o2 (Mo SRR RETE (i AR SR 2léie 2rifee ?
(A) €121 (a) (B) 4125
(C) 44118 (D) ««r23
51. o« @I e e JamgE! i TS 7at S Sal ?
(A) @21 (a) (B) @25
(C) @18 (D) @1 23
51. Tifcteh TR & &9 1 fireq o1 AfeehR < dga srffafia foram mma |
(A) IT=E 21(a) (B) 31q=se 25
(C) =5 18 (D) =T 23
51. The Right to Education Act as a Fundamental Right was enacted under
(A) Article 21 (a) (B) Article 25
(C) Article 18 (D) Article 23

52. HIFT STFIF B I ICPTSIS QSHIP! Ta3T IifeeT ?

A IR (B) Nund
(C) THBY TS (D) fpi
52. SICE T4 IS I TSR Ja] e ?
A IR (B) Mund
(C) Tmey (T (D) i
52. st forfi SR 3 s« TsisTETEH Bflme ¢
(A) 3 (B) HHT
(C) g (D) fargEm
52. 37T o oIEeh AU fohdl T o SlaR | Toft & 2
(A) 3 (B) wHxTH
(C) =5 A (D) fargEm
52. Chanakya, the author of Arthashastra was a minister in the court of :
(A) Ashoka (B) Samudragupta
(C) Chandragupta Maurya (D) Bindusara
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53. TR (@ o SRR F23W - (GloleTpa Ierg FIoTe SITS Tl Pfe ?
Q) FifEEE (B) fZe=e1-b1
(C) oICRI-Tf sl (D) & gl
53. T Swerm T @ T2Em KM Qe el ARaes Rt oo @ we
FCARCE ?
A) - (B) f&Sam e
(C) eIez! I sl (D) TGSl
53. TEHG fo qieTeh(- GATSH TG TR HEHIRT YT 319 aa™ Hame ?
(A) wEH (B) & Em
(C) dreh! €t (D) 37
53. Tfcifiea # @ ®H qgmg fod Tcs o ISR o GRF WA i 1 i 91l TWh
JTIeh AT ?
(A) HRIM (B) =& cEm
(C) =meshi Gt e (D) 31 S
53. Who amongst the following was an explorer to visit India during the reign of
Muhammad bin Tughlaq ?
(A) Fahien (B) Hieun Tsang
(C) Vasco da Gama (D) Ibn Battuta
54. RIRAR NI TERK (Il 524
(A) R SIS HER Tyl (B) Fif&ae I8 Sl
(C) I B vl (D) 'IJEF G T
54. PR eEifed B “le IR ;
(A) TFEIH ANCE! ABE T (B) JifE=ne! A8 Sy
(C) Wiz G Swyi= (D) TFES B T
54. TS AR G §&T AHT 7
(A)  HIFA ARSI BRI ST (B) IEST SRR STTH
(C) THEHI BIGRIR ST (D) I BIGHTH ST
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54. WIS A9 Y] fhad qrm ST B 7
(&) It TS T e (B) hrefim e sa
(C) TmHeH U 3T (D) rehtes TP JEH
54. The animal Sangai is found in
(A) Keibul Lamjao National Park (B) Kaziranga National Park
(C) Namdapha National Park (D) Nokrek National Park
55. ZTHETR I A 41 &HBIR I 2 41 S FFF Jfe1e Sereme, 22561 61 @
ST ST 1S Bl ?
A) “flf @ =4 (B) AW AR
(C) R==w TSl (D) [IfEs Gyt
55. J2CA T TR AHBR & TS SR AW *IKH© 2857 J7FH[ CIRRE ?
(&) s R (B) WA “NR
(C) = AS] (D) =ifee Glg&
55. gifeeel g W@ IR orEr 9r gaEt fegeeft (Whitley) s Tam 19 31K
ST JTH ST ?
(A) g ¢t SHY (B) fed UrA
(C) foreamem T (D) Ufed =gl
55. U TSI Wich chl & o YT < foTdl saTsectt TR, T8 i atfent < &9 # ot I
ST &, ferer Sfiar 2
(A) o <t s (B) fres wRiT
(C) foreamem T (D) Tfga =l
55. Who won the Whitley Award, also known as the Green Oscar for the efforts
in protecting the Greater Adjutant Stork ?
(A) Purnima Devi Barman (B) Jadav Payeng
(C) Birubala Rabha (D) Rohit Choudhury
[Ob:10)]
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56. SIoS RIGI I I AT B MER FHIe H+IT6 1 277, (72 515! =tz
Q) TIS A (B) I&© I
(C) NI G (D) TR
56. TICS TSR NWFe Fo3e1 RSl 6 7RI Sy (31 23 -
(A) TG (B) IF© I
(C) 7t Gfe (D) 215
56. W 379 BYSTR TSR - BT Head gAHEE! a6l bl AT@m el ?
A) FEHM (B) grdl M
(C) feefa gt (D) T g
56. YN T TP SeX-Thel Poaiel gAHe fereh fordl @ Jrar ® 7
&) gew (B) et Y
(C) Taefa gib (D) 3T+ 2k
56. The National Inter-School football tournament in India is played for
(A) Durand Cup (B) Subroto Cup
(C) Duleep Trophy (D) Irani Trophy
57. 1926 HS ZIof« 91 SPTa AR HRGS 2 @q RRRH! 2R :
(A) P @IETS Geos (@& RINGe
(B) W CMRIG! @& NG
(C) =PI &l M (X3
(D) =S AR P
57. 1926 e ISP &2 @ (@RI Ak 2o 2@ :
(A) =P F-SAEDS G0 FRF FIRNGS
(B) &A= Tk s
(C) =T &l KMl 71
(D) =T sl kT
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57.

57.

57.

3. 1926 HISAT 319 MRHEA SR M ffafa sewatit s ganan 7
(A) M HI-3Tfed ey e fafice (B) ¢ Tigrel o fafies
(C) 31 UTH{vT foremTd Sk (D) <AfgH} et S
1926 H Tfid 378 1 geer fefl Sh R an g 7

(A) 3TEH Hi- TR ey s fafies (B) T AR d% fofade
(C) 31w Tmfivr fersprer Sih (D) <ARgHY Mo sh
The first private bank of Assam set up in the year 1926 was
(A) Assam Co-operative Apex Bank Limited

(B) The Gauhati Bank Limited

(C) Assam Gramin Vikash Bank

(D) Lakhimi Gaonlia Bank

58.

58.

58.

58.

58.

NITT SIS AT TR A Gl 2

(A) SIS TTE (B) ©Ieq Kewa
(C) SReF fers @& e+fa (D) SRS 52T
e SR TSI 1 (& SRE FC 2

(A) SRS &HTIE (B) ©RTeA Kewal
(C) SlRred RS e Sfew (D) SRCSR =Hal
NITI 3T STHIEATST HR ST 7

(A) WAt TITETE A= (B) wraty gl ufx
(C) MR, Tiid deh 319 sfea (D) vraF Te afy
fifer 31T < 37eaeT 1 Ug fohEeh U w1 B ?

(A) R oh FEHA (B) e % o w:ft
(C) YT TioTdl sieh o TTa (D) ¥R % g HAt
Who holds the position of the Chairman of NITI Aayog ?

(A) Prime Minister of India (B) Finance Minister of India

(C) Governor, Reserve Bank of India (D) Home Minister of India

EHE
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59. T ST 2T P! A2 ST T T3 (il ?

(A) JECSIR I (B) TSI SIgeT BleTs e
(C) 5. Ir&MTsi=ArETE_t (D) R.o=. S

59. I SIS (F &2 w2 ¢ i frelai wat fuee 2
(A) TEFOSIR BT (B) TSI SIgeT BleTs e
(C) 5. Armcali=eroiat (D) R, e

59. 3city waf fifafim smEm s =m #f3rn e ?
(A) TEAHHTS TS (B) WM 3T HeA™ TG
(C) 4. TIMITATIT (D) fa.3mR. 3meEa

59. TG WA o g I TR =R Toft bl & 2
(A) TEAHHTS T (B) W1 31§ el TG
(C) . TS (D) 1.3, 3re=rgsht

59. Who is the first Law and Justice Minister of Independent India ?
(A) Vallabhbhai Patel (B) Maulana Abul Kalam Azad
(C) C. Rajagopalachari (D) B.R. Ambedkar

60. TAI% FABE R e ¢ STNICIL 91071 B, (12 72 %1 (2=

(&) AREEE S SRealifeEe (B) ~ifeze =T e

(C) “Ig© ¥ g=m™ (D) ©IF© i< QIR
60. TS B @ 95 @R e A el w2

(A) BT @R SRaifeRgI= (B) IR @R OIS

(C) SiFe qR Il (D) SRS 3R IR
60. ‘UL @R Gt Srgre e |

(A)  TIFREAT ST TR (B) IfehEd TR WRa

(C) W 3T s (D) WA A SIS
60. L@ &= fawifoa =iw sam 2 |

(A)  ITfREAH TR TR (B) diferta™ 3R 9Ra

(C) W 3TN s (D) WRE 3R sreres
60. The Durand Line forms the dividing border between

(A) Pakistan and Afghanistan (B) Pakistan and India

(C) India and Burma (Myanmar) (D) India and Bangladesh

[
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61. it =", ZZJ:SE T =
A 5 B) 3
© 2 D) 1
61. T 2= Jow, g o ;E BRI
A 5 B) 3
©) 2 D) 1
61. ‘g’f\a%—%, iztggﬁ AT S9e] ?
A 5 B 3
©) 2 D) 1
61. aft 2=2 @ 12 s,
A 5 B 3
© 2 D) 1
61. If %= % , then the value of % 1S :
A 5 B) 3
© 2 D) 1
62. SICHC 2 6.1, /<1 (F97S 479 191 Foite] IR o Forq o1 3 6. [, /<1 (@97© ¥4¢e1 Tofo
2 | S2-Y2 R 2fewice I (561 5 ThI TRR A =, (S8 (7 11 *[l
T R (2R
A 4afsf B) 5[
(C) 6F.;[. D) 7.1
SPACE FOR ROUGH WORK
[EME
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62. TS OF ¥F (AF OfF R elfis I5R1 2 5.5, oo 370 I @3 &l To11 3 6.1,
ToOlq A T OeT | AW G @G A5y FIS O 5 T A S O AT
NG GERENCE R G EE
A 4afsf B) 5[

(C) 6F.[. D) 7.1

62. ToM 3 TTwE wugEtattm 2 fefr/amr o m@fy S (Speed) st W
3 fo.fummarfr Trafy S e | foer e TR gEeEEEE 5 uwr e, o
HUSHIAST 1 b 98 Mo 7
Q) 4fe.f. B) 5f6.f.

(C) 6fw.fu. (D) 7fw.fa.

62. ToH 3794 =X & 2 fepei/erer <t mifer & 1o feremmera wman @ 3fiv 3 feprfiveiar Y g @ efear 2
fe % g A= | 5 6 AT 2, 1 36k e 3T IHh Wh A= G R -
(A) 4 foprt (B) 5 fwf
(C) 6 foprt (D) 7fh

62. Rajen goes to his school from his house at a speed of 2 km/hour and returns
at a speed of 3 km/hour. If he takes 5 hours in the entire journey, the
distance between his school and his house is :

(A) 4km (B) 5km
(C) 6km (D) 7km
63. 9Ol TP o FIIITRT (2R 96 T6.M.2 | TvRCE SRS 2 :
A 81wm.M3 (B) 27 w.[.3
(C) 367b.[.3 (D) 6475.K.3
SPACE FOR ROUGH WORK
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63. GG TICHCAA AT DT 96 TLIN.2 | TCHEILH Tozred -
A) 817LM.3 B) 2777.M3
(C) 3671.f.3 (D) 64 1.f.3
63. T8 YA T T ferganf wfer s e 96 (3.4.)2 | 9 ATl WieSTe 31 SEET S 7
A) 81%.fa.3 B) 279.f5.3
(C) 36u.fa.3 D) 649.f7.3
63. T T I el EII &Ahel 96 HHIZ R | T 1 TG 3
(A) 81w (B) 27 &3
(C) 36@H? (D) 64 T
63. The total surface area of a cube is 96 cm?. The volume of the cube is :
(A) 81cm? (B) 27 cm?
(C) 36 cm? (D) 64 cm?
64. TS I MR (PTG BRSSP Tle ?
11 12 13 14
12°13°14° 15
14 13
A) 715 B 11
12 11
©) 13 (D) 12
64. TR ARSI @0 IZe ?
11 12 13 14
12°13°14° 15
14 13
A) 715 ® 11
12 11
©) 13 D) 12
SPACE FOR ROUGH WORK
[
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64. TEETE EHEHRM To{TE §6 SHETe WialsAT U ?

11 12 13 14
12°13°14° 15

14 13

@A) 15 ® 11

12 11

© 13 D) 15

64. Tr=fcifad & @ &F @1 fim g se18 ?

11 12 13 14
12°13°14° 15

14 13

A 15 ® 11

12 11

© 713 D) 15

64. Which of the following fractions is the largest ?
11 12 13 14
12°13°14° 15

14 13

A 15 B 14

12 11

© 13 D) 15

65. 1.5 (& [ *roiex s quiel 7.5 &N 7 27 2

(A) 0.25% (B) 0.3%
(C) 0.5% D) 0.75%
65. 1.5 (IEF T© MO 7.5 AN ?
(A) 0.25% (B) 0.3%
(C) 0.5% (D) 0.75%
SPACE FOR ROUGH WORK
[
SLRC-2022/P-1/C 44 =



65. 1.5%.1.17 s@e si@ieer 311 7.5 T\ S 2
(A) 0.25% (B) 0.3%
(C) 0.5% D) 0.75%
65. 1.5 Teratl o1 ferat wferd 7.5 T 8 2
(A) 0.25% (B) 0.3%
(C) 0.5% D) 0.75%
65. What percentage of 1.5 kg i1s 7.5 gm ?
(A) 0.25% (B) 0.3%
(C) 0.5% D) 0.75%
66. 12 (5., 9129 TTaITa 1L g B9 ifet t20z -
A) 12+/3w.[.2 (B) 24+/3.f.2
(C) 30+/3%.f.2 (D) 364/3T.f.2
66. G AL fqgreE ed Tl 12 TLA. 20 ©F e ;
A) 12+/3T7.R2 B) 24+/3T.f2
(C) 30+/3 7.2 (D) 36+/3T.R.2
66. 12 9.7y, SraYUTg MAT g9 ey srETuem 3 geegfos afe Sme 7
(A) 12-/38.f.2 (B) 24+/38.f4.2
(C) 30~/3®.fu.2 (D) 36+/3%.f.2
66. T guaTg By, forment o i s 12 ot 7, 39 Bigst 1 8w @
(A) 123 @2 (B) 243 @i
(C) 30+/3 T2 (D) 36+/3 a2
66. The area of an equilateral triangle with the length of the side of 12 cm is
(A) 124/3 cm? (B) 24+/3 cm?
(C) 30+/3 cm? (D) 36+/3 cm?
SPACE FOR ROUGH WORK
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67. INQ AT AR g I5fpheq Bizen «fbe FRAE @-w IR | 2Rt Hizem
JF Oaf 10 .M. | ATl A 2.4 B, 1= ot 1.6 [, | I &= @[l bizem
TR TR :
(A) 184 (B) 244
(C) 284 (D) 384
67. R O AREET A I{pi Gifet @il SvRiivre wce ARdE B | 2oL Hifers 2l
10 1AL | RG24 . 7Y @3 @3 &g 1.6 W, | 9@ i Gife eiere ?
(A) 184 (B) 244
(C) 284 (D) 384
67. Ua 3m el siEm g 7 e 9 aEdd (Tiles) 81 TG | WhHst dsad 3
AEATRST 10 1.1, | fi@m " 7731 2.4 . Mo W 1.6 . @R | bt Tew aged
AT ?
(A) 184 (B) 244
(C) 284 (D) 384
67. U 1o TEIE o B I R TS T TT5A B hI ST ST T 8 | Teeh 25et <hl ol
10 T B | T 2.4 Y. &l 31 1.6 . =< R | T B oot argeti Y Stragerehdr gt ?
(A) 184 (B) 244
(C) 284 (D) 384
67. Ravi plans to tile his kitchen floor with square tiles. Each of the tiles has side
of 10 cm. The kitchen is 2.4 m long and 1.6 m wide. How many tiles will Ravi
need ?
(A) 184 (B) 244
(C) 284 (D) 384
68. & L2 T 2,000 ARG G 2141 & B | AN (S€ IS 20% S 10% I
VB! (202 1 T, (ST (98 7RG T FECE Rpaiel 5 AT Ffafeet ?
(A) T 1,440 (B) 1,400
(C) % 1,540 (D) % 1,500
SPACE FOR ROUGH WORK
M
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68.

68.

68.

4T E T 2,000 B! o1 s Gl 1121 & I | I G IAFE 20% G3R 10% BT
{1 S ARG &) Ot o Bipl ARG FICS 201 2

(A) 1,440 (B) % 1,400

(C) 1,540 (D) % 1,500

% 2,000 foram S8 AT T8 wiErE! | ggsn s | fen i wifd 20% s 10%
B A, 37T ol B SHeE) S8 gl ¢

(A) 1,440 (B) % 1,400

(C) 1,540 (D) % 1,500

U et 4 T v wiier fSEehl gfga diwa T 2,000 off | 3R 3| 20% IR 10% Hi
AR & g et 8, d 3T u@ o ford feraa yar femar 2

(A) T 1,440 (B) % 1,400
(C) 1,540 (D) 1,500
68. A man purchased a fan which had a printed price of T 2,000. If he received
two successive discounts of 20% and 10%, then how much did he pay for the
fan ?
(A) T1,440 (B) % 1,400
(C) T1,540 (D) % 1,500
69. TPIC 5! I6I JPR SIS 2 : 3 | TSYBIN Bl SeoIT® (202 :
A) 3:2 B) 4:9
© 9:4 D) 2:3
69. Y3(b J0eF AP SIS 2 : 3 | IS 3[04 (el SIS (S :
A 3:2 B) 4:9
© 9:4 D) 2:3
SPACE FOR ROUGH WORK
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69. T SEHAM HEEGRH TIATE 37T 2 : 3 TAT S AT CEATSII T3 3T F&aT 7
(A) 3:2 B) 4:9
(C) 9:4 M) 2:3
69. < I ! BISATST T ST 2 : 37 | AT oh S| bl I &
A 3:2 (B) 4:9
© 9:4 D) 2:3
69. The ratio of the radii of two circles is 2 : 3. The ratio of the areas of the circles
1S :
(A) 3:2 B) 4:9
) 9:4 D) 2:3
70. zrﬁmi:nﬁ,mx%% ERICREE
A 10 (B) 12
(€) 13 D) 14
70. ﬂﬁx+%=4§§l,wyc2+% G NI
(A) 10 B) 12
©) 13 D) 14
70. ﬁfﬁx+i=4,x2+%ﬁm3ﬂaﬁﬂf?
A) 10 (B) 12
(€) 13 D) 14
70. aﬁx+%=4,?ﬁx2+%wm=r%:
A 10 (B) 12
©) 13 D) 14
SPACE FOR ROUGH WORK
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70.

1 1
If x +t =4 then the value of x? 2 s :

A) 10 (B) 12
(C) 13 D) 14

71.

71.

71.

71.

b2)2 x (3 ab)4
wa:bwa:3®,m(39:9(a(2b§)3) I (TR :

@ 9 ® 1
© 3 O 5

ab?)? x (3 ab)*
ra=b @R a =32, o= 939(;2]02)3) G :

A 9 B) 1
© 3 o 3
Sfa=bomia=s & 2329?;212)2)4 3 faratam o 7
A 9 B) 1
© 3 o 3
Ta=baita=3,ma el M

@A 9 (B)

© 3 D)

(ab?)? x (3 ab)*

Ol =

71. The value of 9 < 9(a’h?? whena=banda=31is
@A 9 B) 1
1 1
© 3 O
SPACE FOR ROUGH WORK
¥
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72.

72.

72.

72.

72.

ol AR 5% I IS TS I 6,000 A A @ | AN (98 AT O TR 4
T4 I P o771, (ST ARy Fiaetoll $or “Af<wiel 02 :

(A) 6,300 (B) ¥6,030

(C) 6,250 (D) 26,025

TS ART 5% 961 Y =W X 6,000 Bl 49 @1 | AW ¢TGP orw 75+
eI “IfRCY FRCS BRI O OIS P Bl e =(F ?

(A) 6,300 (B) %6,030

(C) 6,250 (D) T6,025

SIS SR 5% R ¥ 6,000 et ge3Td <ER ol | Jfe foali @ #ig Seqmma
et g@ et fortien wmn, fafa g of feei e ¢

(A) 6,300 (B) %6,030

(C) 6,250 (D) T6,025

TS 7 5% Jd a9 1 T FIYURT S W T 6,000 IR 1T | 37R 98 Th 7L & 3id §
Tt T BT T A 1 BT LT 8, AT 38 TeheT TN T G HEAT T 2

(A) 6,300 (B) %6,030

(C) 6,250 (D) 6,025

Manoj borrowed a sum of T 6,000 on simple interest at the rate of 5% per
annum. If he decides to pay the entire amount at the end of one month, then

the amount he needs to pay is :
(A) 6,300 (B) 6,030
(C) 6,250 (D) 6,025

73. Aa>Db, (a>0,b > 0) W, (53 FHFALS FI0H! S 7oy ?
A —a<-b B) —a>-b
(C) a<-b D) —a>b
SPACE FOR ROUGH WORK
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73. FMia>b, (a>0,b > 0) 2@ FE @RS @G 7T ?
(A —a<-b B) —a>-b
(C) a<-b D) —a>b
73. Jfca>b, (a>0,b > 0) MEEM T« T=a=T dAT ?
(A —a<-b B) —a>-b
(C) a<-b D) —a>b
73. Ffca>b,(a>0,b>0)MFHTGRTAEAR 2
(A) —a<-b B) —a>-b
(C) a<-b D) —a>b
73. Ifa>Db, (a> 0, b > 0), then which one of the following is true ?
(A) —a<-Db B) —a>-b
(C) a<-b D) —a>b
T4, —[-{ (1) (-} — [ {= (1) (=1} T fopefer < |
a) -2 (B) -1
©) 1 D) 2
74, W R
~ =D (D - =D (S
a) -2 B) -1
©) 1 D) 2
4. —[{= (D (D} — [~ = D (1] Fram s 7
a) -2 (B) -1
©) 1 D) 2
SPACE FOR ROUGH WORK
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T4, —[-{= (1) (=D}] = [~ {= (1) (=1)}] 1AM 710 A |
@) -2 B) -1
©) 1 D) 2
74. Find the value of
[+ (D - D (SD
A -2 B) -1
© 1 D) 2
75. @bl “Iesiba =01 v FNEE 1, 1, 2, 2, 4, 4 fofee I @[l =g | #NeBeT «ak
2T I 2 o e/ @S (iR STeife! 2 :
@ 3 ® 3
© 2 ®) %
75. > 2 WO 4 TG 1, 1, 2, 2, 4, 4 e 341 =i | o @i ot 2
A SPIR TSIA -
@ 3 ® 3
© 2 ®) %
75. TR CIEEM T ARG B 1, 1, 2, 2, 4, 4 oa™ g | Sead @od TReEse 2 T
TG TR STTa R STer
@ 3 ®) 3
© = ®) 5
SPACE FOR ROUGH WORK
Ok 10]
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75.

75.

Teh U1 & 6 HeTeh] WA 1, 1, 2, 2, 4, 4 3Afhd & | I i Teh SR hehd T 2’ HW A
&6 ITReRdT 2

(A) (B)

Wi N
D= o

©) D)

A Die is marked with 1, 1, 2, 2, 4, 4 respectively on its six faces. The
probability that ‘2’ will face up on a single throw of the Die is :

A) (B)

©) D)

Wi N
= ol

76.

76.

76.

TG 7! R 91372, S 13713, JAFCH 2° o 2573 | AM FRAGIF 51 27 27 |
(STS ! 72T :

A) 2373 (B) 2572

(C) 2273 (D) 2372

w3(b AT .8 @R FALY. TG 25 3R] 25 73 | M 73f69 Iy G AT 27 = O J
NG

A) 2373 (B) 2572

(C) 2273 (D) 2372

A IFARETH <3781, (HCF) 311 g.37m.41. (LCM) 31 %I S 28 31/l 2573 | &
T SRNHTH A& ¢ 27 SR, 36l e HFET | ?

A) 2373 (B) 2572
(C) 2273 (D) 2372
SPACE FOR ROUGH WORK
[EME
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76. < T3 ®1 HCF 3R LCM shaT: 25 311 2573 B | Ife o Heanadi 4 4 Ush @ 27 8,
A 2373 (B) 2572
(C) 227 (D) 2372

76. The HCF and LCM of two numbers are 25 and 2°72 respectively. If one of the
two numbers is 27, then the other number is

A 237 (B) 2572
(C) 2273 (D) 2372

77. AM[1296 = 2, TS x T T] :

A 5 B) 6

© 7 D) 8
77. T~[1296 = 22 TWOE x G T 2 :

A 5 (B) 6

© 7 D) 8
77. We[1296 = x2, x AW AT ?

A 5 (B)

< 7 (D) 8
77. AME~/1296 = x2, T x I HH BT :

A 5 (B)

<6 7 D) 8
77. If+/1296 = x2, then the value of x will be :

A 5 (B)

<6 7 D) 8

SPACE FOR ROUGH WORK
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78.

78.

78.

78.

78.

RiETS @I @3 AN T 800 € T BT S ANAG! Gemeq [ Blacet AT #1res
s{feiel FRIFTma 20% 7 99 =7 | TNaRe RKifeey tae -

(A) %1300 (B) 1200

(C) ¥1100 (D) %1000

fafere q=fs ANAT 800 BiwT eon @9 e Kaw Joe fefere 20% =ire (qed [ v
e | Ao e o 2= -

(A) %1300 (B) %1200

(C) 1100 (D) %1000

fafSr 3 @@ gamet 3 800 31 SR I 5 S SR S8 BHE{BAT ST iy
WHRETRT ST BHAR S 20% SR | S G SR S8q1 59 2

(A) %1300 (B) 1200

(C) 1100 (D) %1000

fafSta 3 e a%g =1 T 800 o TligT 31K 39 I%] ! 39 TR o1 foh W 3Th forshl Jod i
20% B | g T fIsha Ge 2

(A) %1300 (B) %1200

(C) %1100 (D) % 1000

Bijit purchased an article for ¥ 800 and sold the article such that the gain is
the 20% of its selling price. The selling price of the article is :

(A) %1300 (B) % 1200
(C) 1100 (D) %1000

79.

M + (—ij =+ 1%5{[, (S8 x—J A+ P 27 2

5 10
A 2 B 1
© -1 D) -2
SPACE FOR ROUGH WORK
[E%E
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79. zrﬁ% + (—%} =x+ 1%§§rwmmmwm?
A4 2 B 1
©) -1 D) -2
79. —g’f\a% + (—%j =x+ 1%,3Wxﬁﬂﬂ3ﬂmﬂ'ﬂ'ﬁ? ?
A 2 B) 1
© -1 D) -2
79. Ak % +(‘1%j =x+ 1%,fﬁxwm=rwaﬁm?
4 2 B 1
© -1 D) -2
79. If % + (—1%) =x+ 1% , then what will be the value of x ?
A 2 B) 1
© -1 (D) —2
80. 7 (5., PG 9B Jeq ARPINE T <! I5Cwq 500 IR IR 9 2 |
B A1 S T (o G, 7 = )
A) 7. (B) 117.1.
(C) 15T, (D) 22 .J.
80. 7 cm PR «FfH Jred “IfF1= a1 G0 391 9low 71 2971 | I9f 1o 1@ T
(Fn =)
A) 7GR B) 11 GM.
(C) 15 @L.I. (D) 22 .1
SPACE FOR ROUGH WORK
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80. 7 A.f. waE MHI HIH e §E gl A St SiEeE | o sl s
22

ARG g ? (n = e
A) 73 (B) 119.fm.
() 154.fa. (D) 224.f4.

80. 7 Tt forsan ATt U gt 1 AR R TS 1 SWAN Uk v S o foTe TR ST @ | &
BT (= )
A) 78 (B) 11 3
(C) 15 (D) 223

80. The circumferential length of a circle of radius 7 cm is used to construct a

22
square. The length of the side of the square is : (Take © = 7.)

A 7cm (B) 11 cm
(C) 15cm (D) 22 cm

81. ferafeTiie sT=q (PIVCH! TR T2 M 42 — x — 27 GBI TLAWS ?

Q) x-4) B) (x+5)

€) x-2) D) (x+4)
81. faferis b 929W A 22 — x — 2 ©F AW 2

A) (x-4) (B) (x+5)

€) x-2) D) (x+4)
81. TTEMETH a&aT x2 — x — 2 Tergremman ufyty am=mafii (factor) ?

A) (x-4) (B) (x+5)

€) x-2) D) (x+4)

SPACE FOR ROUGH WORK
EYE
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81. TrfcTRad o ¥ 959g 42 — x — 2 1 T UGS HH A1 & ?
A -9 B) (x+5)
€ -2 D) (x+4)
81. Which of the following is a factor of the polynomial x> —x — 2 ?
A -9 B) (x+5)
€ -2 D) (x+4)
82. 7,12,5,1,4,2,1,12, 17, 16, 1, 5, 8 XI5 SIGHI (202
A 7 B) 4
©€) 8 D) 5
82. RN
7,12,5,1,4,2,1,12,17,16, 1, 5, 8
qq qT :
A 7 B) 4
€ 8 M) 5
82. TTERITE EHTT B ol ATt fegd 2
7,12,5,1,4,2,1,12,17,16,1,5, 8
A 7 B) 4
€ 8 D) 5
82. Hq@7,12,5,1,4,2,1,12,17,16,1, 5, SHIHEA R :
A 7 B) 4
€ 8 D) 5
82. The mean of the data series
7,12,5,1,4,2,1,12,17,16,1,5, 8
A 7 B) 4
€ 8 D) 5
SPACE FOR ROUGH WORK
[EHmE
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83.

83.

83.

83.

83.

0.003 + ? = 0.3 PG &4 BF (?) T elfozl+e Sl A 2R :
(A) 0.01 (B) 1.0

(C) 0.0001 (D) 0.001

AT 0.003 + ? = 0.3 @ TS @i (?) oEha 2 @ 1ifs 1
(A) 0.01 (B) 1.0

(C) 0.0001 (D) 0.001

TR TS 37Tel TR S BRI fe 71 SIS SersgHl g ?

0.003+7=0.3

(A) 0.01 B) 1.0
(C) 0.0001 (D) 0.001
R 0.003 + ? = 0.3 | Yyaresh fog (?) i Sfaefud & aref @ g
A) 0.01 B) 1.0
(C) 0.0001 (D) 0.001

The number that replaces the question mark (?) in the equation 0.003 + ? = 0.3,

1S
(A) 0.01 B) 1.0
(C) 0.0001 (D) 0.001

84.

0.5 f.{. @47 Flare" Ao @3 GFIfEF I ©F I 1.28 .1, JAFRT G5! fous e
TRECE 2T AN 23 | G2ERGS PloTeers Al Jo Sed A1 T2l

A) 12 (B) 10
©) 8 D) 7
SPACE FOR ROUGH WORK
[E%E
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84. 0.5 mm 7F GFH FICEH *R IAAM SIS F(F 1.28 cm TCHF G35 FF 7 F1 27 |
TS SIS TR -
A) 12 (B) 10
€ 8 D) 7
84. 0.5 fir.fi. T M1 TH o foeTsEt et ot ST 1.28 6., SR T /i TgEt 3T
QAR SG] | TGE! 3T WTATHHA Ged ST T g 7
4) 12 (B) 10
€ 8 D) 7
84. 0.5 fir.ft. <t HIerE o ST i T Ife I TR-TR WIST AT & dTfeh 3MTHR 1.28 A & Th
B¢ ! W fear S g | faeraet it sy TE R
A 12 B) 10
€ 8 D) 7
84. A sheet of paper of thickness of 0.5 mm is repeatedly folded to fill up a gap of
size 1.28 cm. The required number of folds is :
A 12 (B) 10
€ 8 D) 7
85. <l SRS CFqd 119 15 .. i FIfer 150 6.10.2 | 3fvr (a1 A9 Ifad SESGIR Fife
1% @eiTeT 3 741 2, (STB ARSI TGl A 27
(A) 50 .. (B) 60 .1.
(C) 70 .. (D) 80 .1.
SPACE FOR ROUGH WORK
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85. b SIFSCFLAT (T 15 cm GF (el 150 em? | I SIESCTFELS ) @IS 0
IR SifeT @i EPge (& 1% 29 1S 91 =Y Mg AR 203
(A) 50 cm (B) 60 cm
(C) 70 cm (D) 80 cm

85. HWHH FFal aaumsar 15 4.f. 3m aft gsmsien 150 @.f.)2 | Jfe af aaumse
AR 3f cserEt T8 T sifTgs 1o T AR, e weheEm swa @
[SRIRIECCIISILIC i
A) 504, (B) 604.fa.

(C) 70%.fa. (D) 804.fa.

85. TH IRAQ h ehaTs 15 Wl 3R &%e 150 i &1 & | AfG &Rt I harct IHeh! TS
TR A & %gmaaﬁmsrrq,?hwwﬁm‘aﬁm :

(&) 50 & (B) 60 %
(©) 70%H (D) 80 &

85. A rectangle has 15 cm as its length and 150 cm? as its area. If the area is
increased to 1% times the original area by increasing its length only, the new
perimeter will be
(A) 50 cm (B) 60 cm
(C) 70cm (D) 80 cm

SPACE FOR ROUGH WORK
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Q. No. 86 to 88 : Choose the correct preposition :

86. I always get nervous when I have to speak an audience.
(A) 1n the front of (B) 1in front of
(C) 1infront of (D) affront of
87. Submit your assignments ten days of the announcement.
(A) within (B) by
(C) with in (D) before
88. No student or teacher should be this famous reference book.
(A) with (B) without
(C) given (D) despite
Q. No. 89 to 90 : Choose the correct option :
89. A number of vehicles travelling together under escort for the sake of safety is
called
(A) Regiment (B) Convoy
(C) Escort (D) Cavalry
90. Love for one’s country is known as
(A) Jingoism (B) Patriotism
(C) Nationalism (D) Expatriate
¥
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Q. No. 91 to 92 : Fill in the blanks with correct options :

91. A gifted scientist, Newton some of the most fundamental laws in the

history of science.
(A) keeps discovering
(B) who discovered

(C) discovered

(D) kept from discovering

92. We are all worried about the condition of the company.
(A) monetary affair (B) financial
(C) finance (D) monetary

93. Choose the correct order to complete the sentence :
I.  relationship between two or more
II. people, places or things
III. a relationship in space or time as a logical
IV. prepositions are used to show
A ILIILIV, I B) ILIV,I, III

© IVIILLII D) IV, 1L ILI

94. A group of lions is called

(A) Herd (B) Pride
(C) Pack (D) Bunch
Elﬂi:_'
SLRC-2022/P-I/C 63 Z5F  P.T.O.



Q. No. 95 to 97 : Choose the correct SYNONYM for the given word :

95. Pompous

(A) Humble (B) Simple

(C) Haughty (D) Unpretentious
96. Timid

(A) Courageous (B) Brave

(C) Coward (D) Bold
97. Virtue

(A) Vice (B) Morality

(C) Dishonesty (D) Unworthy

Q. No. 98 to 100 : Choose the correct ANTONYM for the given word :
98. Harass

(A) Irritate (B) Comfort

(C) Molest (D) Seduce
99. Gorgeous

(A) Magnificent (B) Dazzling

(C) Beautiful (D) Dull
100. Bloom

(A) Wilt (B) Revive

(C) Plant (D) Dry
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101.

101.

101.

101.

101.

@I 9F T PR B MILITARY $ NIMIUASY f3pita 14l 2= | (0! ¢ T
SEMINARY 3 (W 123 =i 2

(A) RENIOASY (B) TENIOASY

(C) TENIMASY (D) RENIMASY

@5 WHE 7&FCe MILITARY I NIMIUASY @14l 23, S 43w IREEFS I3
3 SEMINARY FeItd @141 24 ?

(A) RENIOASY (B) TENIOASY

(C) TENIMASY (D) RENIMASY

WIE 3910 (Code) S, MILITARY @ NIMIUASY faim Srei | SEMINARY @t o
T SERTST AT for ?

(A) RENIOASY (B) TENIOASY

(C) TENIMASY (D) RENIMASY

e fafgad #ig & MILITARY & NIMIUASY fer@r Strar 8 | 3¢t i & SEMINARY
o1 Y forar S ?

(A) RENIOASY (B) TENIOASY

(C) TENIMASY (D) RENIMASY

In a certain code, MILITARY is written as NIMIUASY. How will SEMINARY
be written in the same code ?

(A) RENIOASY (B) TENIOASY
(C) TENIMASY (D) RENIMASY
102. TS (G *=1 GBI (oI0S TFES =7 ?
Q) =S (B) T&bifeTs s
(C) &l (D) SERS
102. 0 SRS =M@ N @I 20 958 (HAR TGS [ 2
A) @ (B) TFHIfeT® Tl
(C) s D) TR
102. TMEREH S8 HHH AT T g-I1Te ISR ?
(A) e (B) we fezn
(C) TermiR (D) USRS
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102. FfciRad # & b 91 31&g T9H H9g | Fa19d T8 & ?

A) S (B) HIER
(C) Tomel (D) g
102. Which of the following words does not belong to the same group ?
(A) Ship (B) Motorboat
(C) Train (D) Aircraft

103. WIS I *=F P *RAARE WE 7= 2

(A) Hanger (B) Airport

(C) Aeroplane (D) Aircraft
103. 03 SafIe X TaT 04y (I #9115 e (Ao feey 2

(A) Hanger (B) Airport

(C) Aeroplane (D) Aircraft
103. TERH g HTH G g AR HGEBRHBR ST ?

(A) Hanger (B) Airport

(C) Aeroplane (D) Aircraft

103. Tfetfiad @ <M @1 3reg 39 wregi § i 8 2

(A) Hanger (B) Airport
(C) Aeroplane (D) Aircraft
103. Which of the following is unlike with the rest of the words ?
(A) Hanger (B) Airport
(C) Aeroplane (D) Aircraft

104. 12,11, 13, 12, 14, 13, ?, ... *RYEGR e@es bz (?) Gre 5323 2

(A) 10 (B) 16
C) 15 (D) 13
104. ¥GCS @ 12, 11, 13, 12, 14, 13, 2, ... @ 51T @i (2) Bezd 2= o) 5903 ?
(A) 10 (B) 16
©) 15 (D) 13
[EHiE
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104. 12, 11, 13, 12, 14, 13, ? , SIS G- BIAEFUT TG 71 FAFRHST S g ?

(A) 10 (B) 16
(C) 15 (D) 13
104. 7@ 12, 11, 13, 12, 14, 13, 2, ... H, TR-a/=s (9% (?) % M W S & G@ 1w
g7
(A) 10 (B) 16
(C) 15 (D) 13
104. Which number replaces the question mark (?) in the series : 12, 11, 13, 12,
14,13, 7, ...
(A) 10 (B) 16
(C) 15 (D) 13

105. IM Parts W Strap * To! (I RO R SRR 716e =7, (o @t TRmE
Wolf *=(B! (Bl %19 (700 7o 2'F ?

(A) Flow (B) Animal
(C) Wood (D) Fox
105. Parts 932 Strap *RCSICIb AW & G SR 7S 27 1 Segzhel TN Wolf @3
S TS *17 I ?
(A) Flow (B) Animal
(C) Wood (D) Fox

105. Jf¢ Parts 3T Strap TS SR SR AL TETS1 GGl THT, TEREH o6 gl T@
T Wolf S |l T ?
(A) Flow (B) Animal
(C) Wood (D) Fox

105. e 315 Parts 31X Strap rH! @i @ Hafed €, a1 6w 31sg s Wolf & T &9 § Hefq
[ELA LI
(A) Flow (B) Animal
(C) Wood (D) Fox

105. If the words Parts and Strap are related in some ways, then which word
should be similarly related to Wolf ?

(A) Flow (B) Animal
(C) Wood (D) Fox
[
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106. 93 @R FINEG! oG o Tzt 72 ?
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107. 951 =g 73 2wl Sl i st baqe ¢yedl (e |

1 6
4 |3 5 |3
3T 5 forat PIRDGR 55 feidts Fifds 4! el taz
@A) 2 B 3
€ 4 D) 6
107. T4 433 TS AR @RI 2, 0 G2 T (TR
1 6
NE 5 |3
SRCE RS EICK [CERSTIITEG P
@A) 2 B 3
) 4 D) 6
107. SisotT A SRHE! We- TRerErsT, faf fherge@t memea g S B IErE 7= |
1 6
NE 5 |3
Torfesan 5 T ettt fogama e smfHRT A ?
@) 2 B 3
€ 4 D) 6
107. STe Ush &1 UT8 1 &1 ST GHTE] STl &, 1 TR Igf femmg S g
1 6
E TE
T8 o 37 5 o forodid Heteh T 37 8 :
@A) 2 B 3
€ 4 D) 6
107. When the same Die 1s rolled twice, the outcome 1s as shown :
41 3 26 3

The digit on the face opposite to 5 is

A 2 B) 3
C) 4 D) 6
[E%E
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108. & bad (FFCH! SR9 (Fq© I STSTS<T (Plel 729 @N97Fe 360° ©LF P H ?

A B (B) D
© A D) C
108. BaBrs @i TAMHGI Sreredte IR e 360 T 4 2

(A) B (B) D
€ A D) C
108. & HEi g« @i-grel i BT gremera 3n 360 forfifgg @ ¢

A) B (B) D
C) A D) C
108. & it JATehfa |, fohm 377 % 3TTafie ivn w1 A 360 i aHA g 2

D
A) B B) D
© A (D) C
E¥E
SLRC-2022/P-1/C 70 ey



108. In the figure, which component has the sum of the internal angles less than

360 degrees ?

B
7
D
(A) B
©) A

(B) D
(D) C

109. SEHTS 45 eXE@IES BF (2) G 52 I2Je19N TSI ALLITH! 5 41

299

1491

75

(A) 597
(C) 497

(B) 697
(D) 579

109. TIHCS emw@i (?) fbrg “IfFacs e[y it foive 9 -

299 5
1494 19
75 19
37
(A) 597 (B) 697
(C) 497 (D) 579
EHE
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109. fefRr 319 o™ S BIERET fEE STereEn T SRS Fe ?

299

?

1491

75

(A) 597
(C) 497

(B) 697
(D) 579

109. 35 YT AT 1 = L A A 731 Yo & yeares Fagd () 1 2 ot

299 5
1491 19
75 19
37
(A) 597 (B) 697
(C) 497 (D) 579
109. Choose the possible number that would replace the question mark (?) in the
pattern :
?
299 5
1491 19
75 19
37
(A) 597 (B) 697
(C) 497 (D) 579
[
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110. 2SH, NS, A9
G NHACFIHIF TS Tl (FIC! (o 52 alfsfifig g 2

&
©) (D) @ O

110. FGR &9 oo et afsfiag T @8 i< -

3Ifs, SIS,
B)
©) (D) @O

110. TTETH & U HTRTINSAT BT, el ST, JET BIART ?

©) (D) @ O

110. freferfiga 5 & s |1 o form “gieft, A, sre o1 giatfie o ?

D) @ O

110. Which of the following Venn Diagrams would represent Elephant,

Carnivorous, Tiger ?
» @O

A)

9@

(A)

Sl

(A)

Bl

©)

(A)

©)

Sl

=
el

P.T.O.

[OFA0|
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111. ‘X’ I fofEe BanR wicsie-aifsike foaw! tarz —

D

X)
(1) 2) 3) (4)
@A) @ B @)
© 3 D) (4

111. X =4t ofes bafta weie afsle 2= :

D

X)
(1) 2) 3) (4)
@A) @ B @)
© 3 D) (4

111. X T gramits aremgst 9« 79EsT ?

D

X)
OVl [0
(1) 2) (3) (4)
@ @ B) @)
© 3 D) @
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111. X’ &9 § fafed 31mepf i g 8 3

D

X)
O IO
(1) 2) 3) (4)
@A) @
© 3

D

X)
QN O IO
(1) 2 3) (4)
@ @
© 3

B @)
D) (4

111. The mirror image of the figure marked as X’ is :

B) 2
D) (4

112. ¥z A5 o7 eve HE0 Rge @Ure Sia e SifEG @ikt @Egd 273, o

foore 4 |

419

(1) 2)
@ @
© 3

SLRC-2022/P-1/C
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112, To% 9IS P 7Y APl @S S FAE ¢l
IS @711 A3 ot fofees @t 2

41412

(1) 2 3) (4)

@A @ B) (@)
© 3 D) (4

112. T8 AT foretms@t fom) M7 TETst SHisa TeRTE g/ T8l HTaR JRaiE 7

4 1919 §¢

(1) (2) 3) (4)
@ @ B) (@)
© 3 D) @
112. S« URes! 3fe =i fodier 3@ w Aret S B, af feam ma e Shan fe@rs em, 35! 989 :

419149

(1) 2 (3) (4)
A Q) B) @)
© 3 D) @
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112. Identify how the pattern

4 14 @ S

(1) 2) (3) (4)

A @ B @)
© 3 D) (4)

would appear when the transparent sheet is folded at the dotted line ?

113. @me SIfECG! 75+ PlaCeT e RIAT S¥CB! foeie 1 ;

?

(1) 2 (3) (4)
@A @ B) 2
© 3 D) (4

113. &e oAb 575 el wxiG s el -

?

(1) (2) (3) (4)
A Q) B) @)
© 3 D) (4)
Ok 10]
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113. BT HeL@! 377 QeI STEriE i |

(1) 2 3) (4)
@ @ B) 2
© 3 D) @)

113. 3 YT < TE=TH i ST e o1 T AT 2 -

?

(1) 2) 3) (4)
@A) @ B @)
© 3 D) (4)

113. Identify the portion that completes the pattern :

9

1) (2) (3) (4)
A @ B) @)
©) ® D) (4)
=%
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114. 278 HERR SR 391 S “ ? 7 H%0bre i «I11 fbaes! o« Sfered |

O

@

AN

A\

?

o>

&

—>
A) @
©) ﬁ

» O
(D) E>

114. 5@ IRFCS SR I @I (2) @7 ARECS @ Bafb 200 40 @ I |

@

A\

?

o>

&

AN
(D) E>

114. FEMHGHIE! AR S0 G B rEREE g g g ?

@

A\

?

o>

&

SLRC-2022/P-I/C
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114. T==1 3 H9g T 1A L 3R IaT it foh SF A1 Fort « 2 o1 wiceenfud sham ?
O|0|0O
A\|A
mplicp(>

w O AN
© Q (D) E>

114. Study the set of figures and find out the one which would replace

O|0|O
AA 2

> &
A) @ (B) @
©) ﬁ (D) E>

TR
:

115. i+ SRS e Haeh! foire 4 :

Y X iy

A B (B) D
C) A D) C
115. S @E o7 3t =iermt oafb Hfee 9

R W iy

(A) B B) D

© A (D) C
E¥E
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115. TR IS HETE! TR |

YN vy

A B (B) D
© A D) C

115. g1 § 37w ot 6 vg=m &

115.

Y WO vy

A) B B) D
© A D) C
Identify the figure different from others :

B WY

A B B) D
© A D) C

116.

(2, 6, 24, 60, 120, 216) *RIFTHS HeT IR e F4 |
A) 216 B) 120

© 24 D) o

116. e Fwibre s 722 fbfee 39

(2, 6, 24, 60, 120, 216)

A 216 (B) 120

€) 24 D) 0

116. HINSTE IR MU M7 foeegt e ?

A 216 (B) 120
(C) 24 D) 0
SLRC-2022/P-1/C 81
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116.

116.

TG H TTeTd UG %1 TE=H hi —

(2, 6, 24, 60, 120, 216)

(A) 216 (B) 120
C) 24 D) o
Identify the incorrect term in the series :

(2, 6, 24, 60, 120, 216)

A) 216 B) 120
(C) 24 D) 0
117. ffetire #RfR s Koo 591 —
AIFL: 46T
T 2. 1 R[ce st
T3 : I 15 OF ¢ =¥ (oS “RIF 1 T &k @R ST SR#[] 2719 g 341;
SR AR 4 G eI e

117.

AT 4: 36 FA
AT 5 : T 18 ST Tled T (o0% 2 [eiel 41
ST Tl 2 4<CeT SAEIS I TR SNIT Cof Af<eeet S ez 6279 2

A 11 (B) 18
(C) 17 (D) 19
femfafe swrswrests R 4

qo1: 4TSI

q2: 1R@nFE

qo13: W 15 A TR O 1 R 4 ToITT T (A0 F15TS 95 TRl 4 R 4T
Gl NS |

g4 : 3 5 F9 |

qof5: 18 (A3 I2ed 20 2 [Eiel 39

2NfRE T 2 o SIS FE SIS YIS T SoPTRel FHCE LTI T il 2(J 2

A) 11 (B) 18
© 17 D) 19
[E%E
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117. TER SFTHHRE! HIHAT AHE —
AWM 1: 4QNE
JAM2: 1TH@
a3 e 15 T g gafea SR, A 1 S it AR SR ST ;
TeTea 3TH 4 1 fom g |
AMMM4: 3N
amm5:  Sic 18 71 gs thm s, 2 TRw’
¢ TS 3T BRE! FfafEs 919 2 S grermRieet, e T #1 S 2
@) 11 (B) 18
) 17 (D) 19
117. fr=ferRaa =won w femm =i

WOT1: 43|

WOT2:  1EeH |
TWOT3:  Ifc 15T HA R, A1 =IO 1 W AR 3R T8 8 AR T; A=IUT =0T 4 W 37 6 |
TWOT4: 3WS |

TOT5:  Ifc 189 Il B, a1 2 Bl |
e Iuh TN <Rl ITei 2 o TRIeh A o {1 T Sran B, ot 31faw gform <= g 2
A 11 (B) 18
©) 17 (D) 19
117. Consider the following steps —
Step 1: Add 4.
Step 2: Subtract 1.

Step 3 : If less than 15, jump to step 1 and continue from there ; otherwise
proceed to step 4.

Step 4: Add 3.
Step 5: If greater than 18, deduct 2.

What would be the final result if the above steps are followed with the initial
value of 2 ?

A 11 (B) 18
(C) 17 D) 19
[E%E
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118. fTfTe (@I @R *=2 “Tge el : SRR FoH(63 ST 5791 251w 3¢ 2

Q) el : e o Rea (B) a3 : selea

(C) TR : IR0 o 2o (D) il : SfeEe
118. W@ Seale @ (Sieiib “Tea Vel : BREART ©9 1@ Peeid FfEe ?

(A) Ferel - RerEifR WeReeE (B) ToAIE : weTcE!

(C) TRIT: (R0 o 2fe (D) el : Siewze
118. TMEREH o« ST “MeH feeeht : IR’ s @il e ¢

(A) whictehrar : fyeiien am fae (B) =% : ot fepeet

(C) =8 : TIed 3 gfeA (D) 3T : ASTHEA
118. Tr=farfga o @ = o1 Wigl 36 auE Gt & S8 8 feeett : AT Bl 2

(A) HicTesrar ; faereifen T (B) =S : SATCI(ehal

(C) =g : Tied AT sfean (D) TR : AISHEA

118. Which of the following pairs is related in similar way as “New Delhi :
Charminar” ?
(A) Kolkata : Victoria Memorial (B) Chennai : Red Fort
(C) Mumbai : Gateway of India (D) Agra : Taj Mahal

119. PENTAGRAPH — ENTAGRAP — NTAGRA - ?

XSG SN9RGI2 R0 SRS *7C5!
(A) GRAT (B) TAGR
(C) NTAG (D) AGRA

119. IR b Fisre F0e 78] =17 (b F 20 ?
PENTAGRAPH — ENTAGRAP — NTAGRA — ?
(A) GRAT (B) TAGR
(C) NTAG (D) AGRA
119. TTET BIRGE! ST g 2ATETT A 3176 01 digiat AT § ?
PENTAGRAPH — ENTAGRAP — NTAGRA — ?

(A) GRAT (B) TAGR

(C) NTAG (D) AGRA
EHE
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119. sf@e1 PENTAGRAPH — ENTAGRAP — NTAGRA — ?

ST W 3 Tt 3w e/ 2 2
(4) GRAT (B) TAGR
(C) NTAG (D) AGRA

119. What would be the next to continue the series :
PENTAGRAPH — ENTAGRAP — NTAGRA - ?
(A) GRAT (B) TAGR
(C) NTAG (D) AGRA

120. 7— 10 — 15 — 22 — 30 — 42 — 55 SIFAWGI SN ARG foelre T |
@) 30 B) 15
(C) 22 (D) 55
120. fafeiie wxfbrs srem 724G fofre <4
7-10-15-22—30—42—55
(A) 30 B) 15
(C) 22 (D) 55
120. BIR3TE U TR M1 fargrerat fmm 2
7-10-15-22—30—42—55
(A) 30 B) 15
(C) 22 (D) 55
120. @A H 7TAd UG ! T8 i |
7-10-15—-22—30—42—55
(A) 30 (B) 15
(C) 22 (D) 55
120. Identify the incorrect term in the series :
7-10-15-22—-30—42—55
(A) 30 B) 15
(C) 22 D) 55

121. ForfeTfis RITCE! 127 322 “BfeseT : Arzer” T=orFiha sTopst 701 g1 1 2

(A)  FFTIG : ar (B) ol : @&
(C) fomel : Hif<p (D) <@: 70
[EHiE
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121. 07 (STl (SITIBTETR [ 0 “Bfer : TRRA €T T GF2SIF TRFS ?

(A) 4o % (RFeTCD) : A= (B) Tl : 5
(C) 3l : 2D (D) I : 16
121. TTEEH e SRIEm “Sie: wemi” swfed g ¢ ?
(A) Tz : STee B) g5 :fafa
(C) ¥ :wd (D) s :9§d
121. T3 7@ TSl § § forment Ty ‘594 ; Ir81” J@T | ?
(A) Thame : s (B) 9T :
(C) &4:wie (D) et : e
121. Which of the given pairs has a similar relationship as “Engine : Vehicle” ?
(A) Filament : Bulb (B) Thread : Needle
(C) Cup: Plate (D) Ball: Bat

122. GCRB! (TS TRES i< (IS FRAICG! o 1 |

(A) 1331 (B) 1728
(C) 3375 (D) 2788
122, WGTH ogsf 1 2@ 731l fofee 4 -
(A) 1331 (B) 1728
(C) 3375 (D) 2788
122. BRI 1T SR & ?
(A) 1331 (B) 1728
(C) 3375 (D) 2788
122. 38 GEA] <l Ug= i Sl GHE W G T8 g1 =R |
(A) 1331 (B) 1728
(C) 3375 (D) 2788
122. Identify the number that should not belong to the group.
(A4) 1331 (B) 1728
(C) 3375 (D) 2788
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123. S+ *1379 ACS & *37C6! Dol 41 |

(A) SMILES (B) SPORTS

(C) AGENDA (D) SPACES
123. SR (AT 2T *=1i fbfee 39 -

(A) SMILES (B) SPORTS

(C) AGENDA (D) SPACES
123. TSI BRI THT Fee@! iR ?

(A) SMILES (B) SPORTS

(C) AGENDA (D) SPACES
123. 36 ¥reg 31 TE=H i i1 gE & SR |

(A) SMILES (B) SPORTS

(C) AGENDA (D) SPACES
123. Identify the word that is different from others.

(A) SMILES (B) SPORTS

(C) AGENDA (D) SPACES

124. e @RG! 3o @ w7 3o 7127 2

(A) wog: & (B) ISR : AL
(C) @i : e (D) TeIfeTIE : TR
124. 73 S (i ool vz @ 2
(&) vog: AR (B) SRziex e : awes
(C) &l : &l (D) TeIfieTIE : TR
124. TR o1& SRS AT ?
(A) YHEN f&femE - 9gv (B) <R fafim : axfsfer
(C) Toe fafiem - Mg (D) <A fafem : srgmn
124, fr=ferfad # & i @1 Sier ael T8 2 2
(A)  ofas : gedt (B) HieHfasH : aRHvSA
(C)  mofremmes : smoft (D) Sefay : P
124. Which of the following pairs is NOT correct ?
(A) Geology : Earth (B) Meteorology : Atmosphere
(C) Zoology : Animals (D) Astrology : Space
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125. W67 CIce =i >4t fomire 41 |

A) VTS B) e
C) RS (D) FIheEms
125. AN if2n7 710 T1iF «(fremif fbfee 7 :
(A) FTNFE B) IRCETS
(C) I D) IRGETS
125. SHIYSI G THT Fige@! AR ?
(A) HERS (B) ®HS
(C) Hawt (D) et
125. BT | FEd veg 6l Tg= = i ;
(A) HHETS (B)
(C) el (D) wife
125. Identify the term related to the military :
(A) Camouflage (B) Carnage
(C) Cabbage (D) Cartilage
126. 333161 IR GIINeEE qEais! 39 FRffrs @R *=re eI =Iite ?
(A) MAN (B) LAME
(C) NOTE (D) KILN
126. 0 Srae =gt s[4y (e *=io 2Cé! qefier Nt 9 110 TGS HCACR ?
(A) MAN (B) LAME
(C) NOTE (D) KILN
126. eS¢ - Higid 19 S STGHTAT TR 3Te AR Ai-is] SRIISAT 86-M € |
(A) MAN (B) LAME
(C) NOTE (D) KILN
126. F=feifiga & @ fore sree 31T IoiqTeT o € Ted TeT AR S ?
(A) MAN (B) LAME
(C) NOTE (D) KILN

126. Which of the following words contains both of the two middlemost letters of

English alphabets ?

(A) MAN (B) LAME

(C) NOTE (D) KILN
EHE
SLRC-2022/P-1/C 88 ey



127.

127.

127.

127.

127.

ol seita JIfN SIRITS et &2 4 ¢S Wi, 3 (IS 8w, 6 CAIS <1, 2 (4
T, 10 TG W IF SRS 2 (IS I | S ZI AATE (08 Gfisq 7% 2% (2
IR ?

A) 3 Qe SIS (B) 1 (4% €2lq©
6 =TS D) 3 (XS oo

TG ¥ TR o7 fealcemt 4 4191 1T, 3 4191 BT, 6 4191 1T, 2 4191 BT, 10 4191 T @R
2 4171 T | 2161w T4 PG AR R @7 (e SRR S0 ?

(A) 34T (B) 1 47T

(©) 92 (D) 3 4o A

e fafEl geeaHrE 3 4 TERTE B AW I 3 TRERT, 3T 6
A, ANH 2 TE@™l, MH 10 SE@Esd 3 AT 2 euer | o =W
SRS TS A Gl ATRg-T fof mean o et fega 2

(A)  STHYE TS (B) 3T TSl

(QERUCEIRUIRIEK (D)  HATTH YTH TETETE

T HGt @ = 310 guF fS9 4 hen =, 3 el S, 6 Hed H19, 2 el FHR, 10 Hed
FHR 3R 2 Hed 1< TAdT & | T&1 8 36 Y& FRAT AT 39 YA heH & Fra9 | 98 376
HE @S E ?

(A) 3HeH IW (B) 1heHIW

(C) 3t ShTE W (D) 3%er I

While coming down a staircase, Jignesh walks down 4 steps, up 3 steps,
down 6 steps, up 2 steps, up 10 steps, and down 2 steps. Where is he

standing in relation to the step on which he started his exercise ?

(A) 3 steps above (B) 1 step above

(C) The same place (D) 3 steps below
128. TfIs (PG =2 SCER *<rs i TG S=padd 311 712 ?

(A) MPRTV (B) PRTVX

(C) CEGIK (D) 0QSUW
128. T SaEfem® T @M SR it i e sepre st 2

(A) MPRTV (B) PRTVX

(C) CEGIK (D) 0QSUW

[EHmE
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128.

128.

128.

TETH ST TGS 480 GHT S=TR=ISH Ffer 7

(A) MPRTV (B) PRTVX

(C) CEGIK (D) 0QSUW
frferfiga © @ % gatl gra faifd frem =1 oo 72 #ar e 2

(A) MPRTV (B) PRTVX

(C) CEGIK (D) 0QSUW
Which of the following does not follow a rule set by others ?
(A) MPRTV (B) PRTVX

(C) CEGIK (D) 0QSUW

129.

129.

129.

129.

129.

Mo f2RT PIee Beife 12 7 TSR T @ — “Of2 @ FHTCOR GFlg 7[@9 GRS 17
IS TS AOF IR F 2

A Wy (B) [
(C) (D) wifarl

MO 12— A ARH FRE TS A0, “OT W ProEd GG *@d 1 17 Srol
TSI 0 ProIC TS 2

A) = (B) @M

(C) =if D) =&

foparsn” | wiarer UshfAst =1 TrE-er 7

A) fom B) fomma

(C) famre (D) fem

TS =1 e <1 IR d BT T S B, “a8 T QIET % $ohalld S i 9el @ |7 T Wit E
U el g ?

@) = (B) =&

(C) wit (D) st

Introducing Geeta to Priya, Rajani says, “She is the daughter of the only son
of my grandfather”. How is Geeta related to Rajani ?

(A) Mother (B) Sister

(C) Aunt (D) Niece
¥
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130. W 4532986 FRANTH! STAGIF BT 2, (SCB EA TRANGS 2] SR (202
(A 5 B) 3
©) 2 M) 9
130. 3 4532986 MRAMHLE [T W (ATF @121 I ©E@ @ SH0 o ARG FAE 1 -
(A) 5 B) 3
©) 2 M) 9
130. 4532986 T 3T felisett e — FAANTHRT et STRATE TATRA™ TS7 ?
@A) 5 B) 3
© 2 D) 9
130. Ife T&AT 4532986 i I a1 STU, a1 918 37 I 3791 fef & st 8, 98 8
@A) 5 B) 3
© 2 D) 9
130. If the number 4532986 is reversed, the digit that does not change its position,
1S
@A) 5 B) 3
© 2 D) 9
131. 0% T i T R4y I 53 Pree @bl 3G FI4ET @We R4S Rl 47

131.

MR ?
64D534I13BD684U64AM154E9G316KLB24054

A 5 B) 2
€ o0 D) 3
I orext Fore @b T 4 iR I 5% 478! B @FH 30 R e 9. 5%

HITE! B G0 S TS R 2
64D534I3BD684U64AM154E9G316KLB24054

A 5 B) 2
© 0 (D) 3
131. TERTS BH SIRITE HHE 4 g bR R S srafsmn S 399 T gt g 2
64D53413BD684U64AM154E9G316KLB24054
A) 5 (B) 2
© 0 (D) 3
131. < 718 @A H UH fohe 4 8 TSk 31k Tact Teh 9W T&AT 2 3TN 31 TG Teh TS T@avi & ?
64D534I13BD684U64AM154E9G316KLB24054
A 5 B) 2
© 0 D) 3
¥
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131.

How many 4’s are there in the given series which are immediately preceded
by an even number and immediately followed by a vowel ?

64D534I3BD684U64AM154E9G316KLB24054
A 5 (B) 2
©) 0 D) 3

132.

36, 34, 30, 28, 24, ...... XY O le oI AT AR 2

(A) 22,18 (B) 26,12
(C) 25,15 (D) 20, 10
132. TGS : 36, 34, 30, 28, 24, ...... T (B R AR ST 2
(A) 22,18 (B) 26,12
(C) 25,15 (D) 20,10

132. B BINETE STARITE THEIN TR 7131 |77 ?

132.

132.

36, 34, 30, 28, 24, ......

(A) 22,18 (B) 26, 12

(C) 25,15 D) 20, 10

@A 36, 34, 30, 28, 24, ...... H 3T S €l g FEATT A =0T 2

(A) 22,18 (B) 26, 12

(C) 25,15 (D) 20, 10

In the series : 36, 34, 30, 28, 24, ...... which two numbers should come next ?
A 22,18 (B) 26,12

(C) 25,15 (D) 20,10

133. o7 =<1l foeiie 5l

(A) Egypt (B) Angola

(C) Uganda (D) Sudan
133. FICR =180l (A0S e Al =G e 359

(A) Egypt (B) Angola

(C) Uganda (D) Sudan
133, eI 99 W& FieHT WesErg ?

(A) Egypt (B) Angola

(C) Uganda (D) Sudan
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133.

133.

fraferRaa wegt & & faww wrsg 1 vg=m A

(A) Egypt (B) Angola
(C) Uganda (D) Sudan
Identify the odd one in the following words :

(A) Egypt (B) Angola
(C) Uganda (D) Sudan

134.

134.

134.

134.

134.

A+BIgd2da, AT@ZBIMG IA-BIwf 29, A2 BI©Y | A@ B3I,
29, A2 BIPN, 9IF A x BEL (2@ A 25 BI =l | fafafis @ sz e
FE AP 2R QI ?

(A) Q-N+MxP B) P+SxN-Q
(C) P-M+N=xQ D) Q-S@P
A+BERANATBUYIT | A—-BARAINAZBYIT2| A@B @RIFTAZ BT

orol @3 A x B @RI A 281 B @3 @ | 109 (i [<p3iB @RI @ P 2e1 Q @1 S |
(A) Q-N+M=xP B) P+SxN-Q

(C) P-M+N=xQ D) Q-S@P

A+ BT sl smem A st B fsm | A — B 3 sifien sem A 31 B T wem |
A @ B T3 31fern Stemr A 311 B [ fowt | A < B 3ifern e A 30 B f feAmma | merfa
o A T T P @t Q 7 femm TR 2

(A) Q-N+M=xP B) P+SxN-Q

(C) P-M+N=xQ D) Q-S@P

A+BHiadae A, BHIAI 8 |A—BHAded A, B9S2 | A@ BT 9deis A, Bsh1
T2 3 A x B gaes A, Bhiaga ? | FAfaRga g @ s o faspeu goiar 2 6 P, Q
HIHAMTR ?

A Q—-N+MxP B) P+SxXxN-Q
C) P-M+NxQ D) Q-S@P
A + B means A is the mother of B. A — B means A is the brother of B. A @ B

means A is the father of B, and A x B means A is the sister of B. Which of the

following alternatives shows that P is the maternal uncle of Q ?

A Q-N+MxP B) P+SxN-Q
(C) P-M+NxQ D) Q-S@P
EHE
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135.

135.

135.

135.

135.

N @F B3 (19 eferifirere F9es 5% 63 92 @ifEs st =nfee | wifes
ZTo (oA e, 5T fog RS O PrRF (59 R | eferiiTen wiiey 2
PRPT 9 T [ Wi 5% G TRre @ER @iz @3 iR afsrifers
fera a1t 97 | efswifsrsiibe @it =@ 2 e Fffee 2

A wifzs (B) oAt
(C) freel (D) P
w35 AiEEe ef e ifEs R @t afa feer «r [5ael feet oF 5 fPree |
I et QTN o =, 5% 6 5T #1907 PRI =ifw I | @A o A0S
e foaees =it am, B o2 T el @ifrecs =ifvm efsrifem w1 « e 96 |

(3 AR fSrIfare] 7=9)¢f HC0R ?
INRRCIES (B) @I
(C) e (D) e

HFE HTEehel WRAT SGRIATRARTE Wifgast sstgs f&m ol fofr semusme frr |
[T €T AYRISE SHF | U™ g8 g9 39 fuferst sra'a | Segrme fufssn
TertorEt @A fores § HTEAT oot WHTET Hifgad! SR 1 SERREFTETE SEH gl |
SET AR AT STER ARFRG BISHeuT G311 A1 7

(A) wifea (B) T

(C) fortu (D) fufes

Teh Usferet alg 1 fohtur =l Sieh i BIS Hifed <le T AT =l T&T AT | WM 31w T e off
Afer o Tm a1 Tt & 3111 fashet 8 | 3nRedt mve W, fushi fopor @ S 31 foeper St
], 59 9T Hifed | 31 et ot @ Sfia It B | e 3ifam fepem gt <At 2

(A) wifed (B) T

(©) T (D) fih

In a bicycle race Mohit was leading the race with Kiran just behind. Reshma
was at the last position, but after some time overtakes Pinky. At the last
bend, Pinky overtakes Kiran, exactly when Reshma overtakes Mohit to win
the race. Who completed the race last ?

(A) Mohit (B) Reshma
(C) Kiran (D) Pinky
EHE
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